
^^3 O]ZP !\! biKN kH%k 1:?74.B+

" !#

+>Z V 99 d9? " K ; 6 I D X >9 > V 9 > K 1 ' > d > K E > ] K > V d 9Z

N?3 ?=1 ^F&0 kHHk ae %qe%HekHHk #:0:Ke d kHHkO p%pp+ :F&:Ke d kHHkO %%)/hO
IiK=&I& o=!2?=6& ?i6Qm ?"1 bF&0 kH%H ae 8e%kekH%H #:0:Ke d kH%HO %*)8+

:F&:Ke d kH%HO %l/ph

T5R #VK? >V9> I'>d>K4];VDX'VZ> Q6K4>KIDX`]'@ J>KI79>9_>K>V9VZd9Z 7?>K
&>K:6Z>9I:`II> _79 ?>K Q6K4>KIDX`]'I'>d>K E>]K>V'@ I7 X`' IV> `d] ?>9
c>V'4d9<'@ V9 ?>: ?V> 1'>d>K4];VDX' >9?>'@ >V9> 1DX;dIIEV;`9C `d]CdI'>;W
;>9P
T!R #VK? >V9> _79 ?>K Q6K4>KIDX`]'I'>d>K E>]K>V'> Q6K4>KIDX`]'@ J>KI79>9W
_>K>V9VZd9Z 7?>K &>K:6Z>9I:`II> I'>d>K4];VDX'VZ d9? >K:V''>;' IV> VXK>9
a>FV99 ?dKDX +>'KV>EI_>K:6Z>9I_>KZ;>VDX@ I7 X`' IV> `d] ?>9 c>V'4d9<'@
V9 ?>: ?V> 1'>d>K4];VDX' E>ZV99'@ >V9> 29]`9ZIEV;`9C `d]CdI'>;;>9P
T$R U9 ?>K 1DX;dIIEV;`9C V: 1V99> ?>I 2EI`'C>I 5 d9? V9 ?>K 29]`9ZIW
EV;`9C V: 1V99> ?>I 2EI`'C>I ! IV9? ?V> #VK'IDX`]'IZb'>K _7KE>X`;';VDX
?>I 2EI`'C>I [ :V' ?>9 .>V;F>K'>9 `9CdI>'C>9P
T[R 5+>ZV99' ?V> 1'>d>KE>]K>Vd9Z `d] aKd9? ?>I H \ 2EIP 5 MKP 8@ IV9? ?V>
#VK'IDX`]'IZb'>K@ ?V> ?>K e6K?>Kd9Z I'>d>KE>Zb9I'VZ'>K cF>D<> V: 1V99>
?>I H 8 2EIP 5 MKP ! ?V>9>9@ V9 ?>K 1DX;dIIEV;`9C :V' ?>9 +dDXF>K'>9 `9W
CdI>'C>9P !"K;VIDX' ?V> 1'>d>KE>]K>Vd9Z@ I7 VI' V9 ?>K 29]`9ZIEV;`9C ]bK
?V> V9 1`'C 5 E>C>VDX9>'>9 #VK'IDX`]'IZb'>K ?>K #>K' `9CdI>'C>9@ ?>K IVDX
E>V d9d9'>KEK7DX>9>K 1'>d>K4];VDX' 9`DX ?>9 &7KIDXKV]'>9 bE>K ?V> I'>dW
>K;VDX> a>FV99>K:V'';d9Z >KZ>E>9 FbK?>P
T\R +>ZV99' 7?>K >K;VIDX' ?V> 1'>d>KE>]K>Vd9Z 9dK '>V;F>VI>@ I7 Z>;'>9 ?V>
2EIG'C> 5 EVI [ ]bK ?>9 >9'I4K>DX>9?>9 .>V; ?>I +>'KV>EI_>K:6Z>9IP
T-R 5a>X6K>9 29'>V;> `9 >V9>K Q`4V'`;Z>I>;;IDX`]' 9VDX' Cd ?>: +>'KV>EIW
_>K:6Z>9 ?>K Q6K4>KIDX`]'@ J>KI79>9_>K>V9VZd9Z 7?>K &>K:6Z>9I:`II>@
?V> _79 ?>K Q6K4>KIDX`]'I'>d>K E>]K>V' FVK?@ I7 VI' H 50 ?>I "V9<7::>9W
I'>d>KZ>I>'C>I `dDX 7X9> &>KGdY>Kd9Z `9CdF>9?>9@ F>99 ?V> bEKVZ>9
&7K`dII>'Cd9Z>9 ?V>I>K &7KIDXKV]' V9 ?>: c>V'4d9<' >K]b;;' IV9?@ V9 ?>:
?V> 1'>d>K4];VDX' >9?>'P !2;I &>KGdY>Kd9ZI4K>VI ZV;' ?>K Z>:>V9> #>K' ?>K
29'>V;>P $U: e`;;> ?>I +>ZV99I ?>K 1'>d>K4];VDX' ZV;' ?>K Z>:>V9> #>K' ?>K
29'>V;> `;I 29IDX`]]d9ZI<7I'>9 ?>K 29'>V;>P [%V> 1G'C> 5 d9? ! Z>;'>9
9VDX' V9 ?>9 eG;;>9 ?>I 2EI`'C>I [ 1`'C 5P

>i&-6P 76e >2?6; QKdIDX<>O G=Qm&1"2_"K&O VcV V(KK"&m c V"6&2=61O
36"2Lri6&'Z"N2

ZN&m=6"i1o=T=6P V6-re 76e DK6NQm JKV9CO AN6&1Qm"r&1$6fr=6'F&=i=6T=6"&=6O ^(K2

Q %

H 5$ Q1'a



Q k 1:?74.B+

U 9X ` ; ' I bE > K I V D X '

2P 2;;Z>:>V9> "K;Gd'>Kd9Z>9 Cd H 5$

>2Je >2Je

UP aKd9?V9]7K:`'V79 Cd H 5$ %

UUP 3>DX'I>9'FVD<;d9Z ?>I
H 5$ e e e e e e e e e e e e e e e e e e e e k

UUUP +>?>d'd9Z ?>I H 5$ e e e e e e l

U&P a>;'d9ZIE>K>VDX ?>I H 5$ e p

&P &>KXG;'9VI ?>I H 5$ Cd `9W
?>K>9 &7KIDXKV]'>9

%e B=6m!K&2N1 Ii "2?=6=2 B-6j
1Qm6Nr&=2 ?=1 ^F&0 e e e e e e e e q

ke B=6m!K&2N1 Ii B-61Qm6Nr&=2
?=1 4F&0 e e e e e e e e e e e e e e e e )

le B=6m!K&2N1 Ii .. %* i2? %8
G4dEj0=1=&I e e e e e e e e e e e e e *

pe B=6m!K&2N1 Ii . * 0=_F&0 e e 8

+P "K;Gd'>Kd9Z>9 Cd 2EIP 5B
"9?> ?>K Q6K4>KIDX`]'I'>d>K4];VDX' >V9>K
`9IDX;V>Y>9? I'>d>KE>]K>V'>9 Q6K4>KIDX`]'@
J>KI79>9_>K>V9VZd9Z 7?>K &>K:6Z>9I:`II>

>2Je >2Je

UP .`'E>I'`9?I_7K`dII>'Cd9W
Z>9B "V9'KV'' V9 ?V> Q6K4>KW
IDX`]'I'>d>KE>]K>Vd9Z

%e F&=i=6$rKNQm&No= ^(6$=6j
1Qm"r&O V=61-2=2a=6=N2Noi2o
-?=6 B=6J(o=21J"11= e e e e e %%

ke :=r6=Ni2o a-2 ?=6 ^(6$=6j
1Qm"r&1&=i=6 e e e e e e e e e e e e e e %k

UUP 3>DX'I]7;Z>B 2d]I'>;;d9Z
>V9>K 1DX;dIIEV;`9C `d] ?>9
c>V'4d9<' ?>K +>>9?VZd9Z
?>K 1'>d>K4];VDX'

%e >ir1&=KKi2o =N2=6 FQmKi11j
TNK"2I e e e e e e e e e e e e e e e e e e e %l

ke @=N&$i2L& ?=6 FQmKi11TNK"2Ij
>ir1&=KKi2o e e e e e e e e e e e e e e %p

(P "K;Gd'>Kd9Z>9 Cd 2EIP !B
"K;6IDX>9 ?>K 1'>d>KE>]K>Vd9Z >V9>K Q6K4>KIDX`]'@

J>KI79>9_>K>V9VZd9Z 7?>K &>K:6Z>9I:`II>

>2Je >2Je

UP .`'E>I'`9?I_7K`dII>'Cd9Z>9B
"V9> I'>d>KE>]K>V'> Q6K4>KW
IDX`]'@ J>KI79>9_>K>V9VZd9Z
7?>K &>K:6Z>9I:`II> FVK?
I'>d>K4];VDX'VZ d9? >K:V''>;'
VXK>9 a>FV99 ?dKDX +>'KV>EIW
_>K:6Z>9I_>KZ;>VDX

%e F&=i=6T=r6=N&= ^(6$=61Qm"r&O
V=61-2=2a=6=N2Noi2o -?=6
B=6J(o=21J"11= e e e e e e e e e e k%

ke 4N2&6N&& N2 ?N= F&=i=6$rKNQm& e e kk

le 46JN&&Ki2o ?=1 0=_N221
?i6Qm :=&6N=T1a=6J(o=21a=6j
oK=NQm e e e e e e e e e e e e e e e e e e e kl

UUP 3>DX'I]7;Z>B 2d]I'>;;d9Z
>V9>K 29]`9ZIEV;`9C `d] ?>9
c>V'4d9<' ?>I +>ZV99I ?>K
1'>d>K4];VDX'

%e >ir1&=KKi2o =N2=6 >2r"2o1j
TNK"2I e e e e e e e e e e e e e e e e e e e kp

ke @=N&$i2L& ?=1 :=oN221 ?=6
F&=i=6$rKNQm& e e e e e e e e e e e e e kq

Q1'a H 5$ d2m"K&1fT=61NQm&



^^3 O]ZP !\! biKN kH%k 1:?74.B+

%P "K;Gd'>Kd9Z>9 Cd 2EIP $B
+>F>K'd9Z ?>K #VK'IDX`]'IZb'>K V9 ?>K 29]`9ZIW

7?>K 1DX;dIIEV;`9C :V' .>V;F>K'>9

>2Je >2Je

UP 29I`'C ?>K #VK'IDX`]'IW
Zb'>K >9'I4K>DX>9? ?>9
`;;Z>:>V9>9 I'>d>K;VDX>9
3>Z>;9 e e e e e e e e e e e e e e e e e l%

UUP +>F>K'd9Z ?>K #VK'IDX`]'IW
Zb'>K V9 ?>K 29]`9ZIW d9?
1DX;dIIEV;`9C :V' ?>9 .>V;W
F>K'>9 e e e e e e e e e e e e e e e e e lk

"P "K;Gd'>Kd9Z>9 Cd 2EIP [B
+dDXF>K'4KV_V;>Z ]bK ?V> 9`DX H \ 2EIP 5 MKP 8
I'>d>KE>]K>V'>9 Q6K4>KIDX`]'>9@ J>KI79>9W
_>K>V9VZd9Z>9 7?>K &>K:6Z>9I:`II>9

>2Je >2Je

UP 3>Z>;d9ZICF>D< d9?
29F>9?d9ZIE>K>VDX

%e G=o=Ki2o1I_=QL ?=1 >T1e p e 8H
ke >2_=2?i2o1T=6=NQm ?=1

>T1e p e e e e e e e e e e e e e e e e e e 8%

UUP .`'E>I'`9?I_7K`dII>'Cd9W
Z>9 d9? 3>DX'I]7;Z>9 ?>I
2EIP [

5P +>ZV99 ?>K 1'>d>KE>]K>VW
d9Z T2EIP [ 1`'C 5R

"h F&=i=6T=r6=Ni2o "iro6i2?
?=1 . q >T1e % X6e / e e e e 8q

Th :=&6-rr=2= AN6&1Qm"r&1j
of&=6 e e e e e e e e e e e e e e e e 8)

Qh G=Qm&1r-Ko=P >21"&I a-2
:iQm_=6&=2 N2 ?=6
FQmKi11TNK"2I e e e e e e e e e 8*

!P "K;6IDX>9 ?>K 1'>d>KE>]K>VW
d9Z T2EIP [ 1`'C !R
"h F&=i=6$rKNQm& 2"Qm N2j

&=6NJN1&N1Qm=6 F&=i=6j
T=r6=Ni2o e e e e e e e e e e e e /H

Th G=Qm&1r-Ko= e e e e e e e e e e e /%

eP "K;Gd'>Kd9Z>9 Cd 2EIP \B
+>ZV99 7?>K "K;6IDX>9 >V9>K '>V;F>VI>9 1'>d>KW

E>]K>Vd9Z

>2Je >2Je

UP .`'E>I'`9? d9? 3>DX'IW
]7;Z> Z>:P 2EIP \ e e e e e e e e /q

UUP 29F>9?d9ZIE>VI4V>;> V:
"V9C>;9>9

%e V"6&N=KK= F&=i=6$rKNQm& T=N
CT=6?-&"&N-2 e e e e e e e e e e e e e /)

ke V"6&N=KK= F&=i=6$rKNQm& T=N
_N6&1Qm"r&KNQm=J 0=1Qm!r&1j
T=&6N=T e e e e e e e e e e e e e e e e e e /*

le V"6&N=KK= F&=i=6$rKNQm& JN& "2j
?=6=2 E!&NoL=N&=2 e e e e e e e e e e /8

Q l

d2m"K&1fT=61NQm& H 5$ Q1'a



Q p 1:?74.B+

aP "K;Gd'>Kd9Z>9 Cd 2EIP -B
#>I>9';VDX> +>'>V;VZd9Z>9 `dY>KX`;E ?>I

+>'KV>EI_>K:6Z>9I

>2Je >2Je

UP 29F>9?d9ZIE>K>VDX d9?
+>?>d'd9Z e e e e e e e e e e e e e %HH

UUP +>I'>d>Kd9Z ?>I ]V<'V_>9
&>KGdY>Kd9ZIZ>FV99I
T2EIP - 1`'C 5R e e e e e e e e e e e %H%

UUUP +>F>K'd9Z ?>K 29'>V;>B
a>:>V9>K #>K' ZV;' `;I &>KW
GdY>Kd9ZI4K>VI T2EIP -
1`'C !R e e e e e e e e e e e e e e e e e %Hl

U&P 29'>V;IE>F>K'd9Z E>V
"V9'KV'' V9 ?V> 1'>d>K4];VDX'
T2EIP - 1`'C $R e e e e e e e e e e e %Hp

&P +>I79?>KX>V'>9 E>V
E>I'V::'>9 Z>:>V99b'CVW
Z>9 Q6K4>KIDX`]'>9 V1?P
H \ 2EIP 5 MKP 8 T2EIP -
1`'C [R e e e e e e e e e e e e e e e e e %H)

2P 2;;Z>:>V9> "K;Gd'>Kd9Z>9 Cd H 5$

UP aKd9?V9]7K:`'V79 Cd H 5$

. %l 6=o=K& ?N= 1&Ke VrKNQm&=2 i2? 3-Ko=2 ?=1 :=oN221 i2? ?=1 46K(1Qm=21 =N2=6
F&:=r6=Ni2oe 7N= :=1&NJJi2o oNK& -m2= GfQL1NQm& "ir ?N= 06f2?=O _=o=2 ?=6=6
?N= F&:=r6=Ni2o T=oN22& -?=6 T==2?=& _N6?O 1=N =1 ?i6Qm 0=1=&I -?=6 ?i6Qm &"&j
1!QmKNQm= B=6!2?=6i2o=2 #:E76iQL1e *'%p*HO lpqhe @_=QL ?=6 B-61Qm6Nr& N1& =1O
N2 ?=2 3!KK=2O N2 ?=2=2 =N2= TN1m=6 1&$rKe ^(6$=61Qm"r&O V=61-2=2a=6=N2Noi2o
-?=6 B=6J(o=21J"11= a-2 ?=6 ^F&e T=r6=N& _N6?O ?N= _!m6=2? ?=6 F&VrKNQm& o=j
TNK?=&=2 1&NKK=2 G=1=6a=2 ?=1 :B "irIi?=QL=2 i2? "T1QmKN=n=2? ?=6 :=1&=i=6i2o
Ii i2&=6_=6r=2 #:3, ae /e8ekHHH 5 d G )/'/8O :F&:Ke dd kHH%O *%he DJo=L=m6&
_NKK ?N= X-6J =66=NQm=2O ?"11 _=22 =N2= ^(6$=61Qm"r&O V=61-2=2a=6=N2Noi2o
-?=6 B=6J(o=21J"11= a-2 ?=6 F&:=r6=Ni2o Ii6 F&VrKNQm& _=Qm1=K&O ?N= _!m6=2?
?=6 F&:=r6=Ni2o o=TNK?=&=2 1&NKK=2 G=1=6a=2 "iQm Lf2r&No 1&r6=N Ii T=K"11=2 #:3,
ae %/e*e%//q 5 d G q)'/pO :F&:Ke dd %//)O k8he 7N= B-61Qm6Nr& _N6L& ?"m=6 N2 I_=N
GNQm&i2o=2 #:==2?Noi2o i2? :=oN22 ?=6 ^F&VrKNQm&h T=N >2_=2?i2o ?=6 oK=Nj
Qm=2 Z=Qm"2N1J=2 #>ir?=QLi2o 1&NKK=6 G=1=6a=2he

UUP 3>DX'I>9'FVD<;d9Z ?>I H 5$

Q1'3>]7K:a _P $5P=P580- #:0:Ke d %/*)O kq/*+ :F&:Ke d %/*)O ppqhP . %l _i6?=
=61&J"K1 N2 ?"1 ^F&0 %/** =N2o=rfm6&e 7N= B-61Qm6Nr& _i6?= "K1 =6r-6?=6KNQm "2j
o=1=m=2O ?" 1NQm JN& d2L6"r&&6=&=2 ?=1 ^F&0 %/** ?=6 ^6=N1 1&T=r6=N&=6 ^(6$=6j
1Qm"r&=2 a=6!2?=6& m"& #:E76iQL1e *'%p*HO lpqhe 7N= X-6J 6=o=K& IiJ =N2=2
rf6 ?=2 CT=6o"2o a-2 ?=6 ^F&VrKNQm& Ii6 ^F&:=r6=Ni2o ?N= FQmKi11TNK"2IN=6i2o
i2? IiJ "2?=6=2 rf6 ?=2 CT=6o"2o a-2 ?=6 ^F&:=r6=Ni2o Ii6 ^F&VrKNQm& ?N=
>2r"2o1TNK"2IN=6i2oe 3f6 T=N?= :NK"2I=2 N1& o6?1e ?=6 >21"&I JN& ?=2 E=NK_=6&=2
a-6o=1Qm6N=T=2e 7N=1=6 E=NK_=6&o6i2?1"&I rfm6& "K1 [F&=i=6=2&1&6NQLi2o1o6i2?j

Q1'a H 5$ >2Je %5k >e >KKo=J=N2= 46K!i&=6i2o=2

%

k



^^3 O]ZP !\! biKN kH%k 1:?74.B+

1"&IY Ii6 1&$rKe >irK(1i2o ?=6 _!m6=2? ?=6 F&VrKNQm& o=TNK?=&=2 1&NKK=2 G=1=6a=2
i2? "K1 [F&=i=6a=61&6NQLi2o1o6i2?1"&IY Ii6 1&r6=N=2 >irK(1i2o ?=6 _!m6=2? ?=6
F&:=r6=Ni2o o=TNK?=&=2 [1&NKK=2 G=1=6a=2Ye 461&J"KNo= >2_=2?i2o rf6 ?N= "J
%e%e%/** T=oN22=2?=2 B@e

^V9F>VIB :N1 Ii6 4N2re ?=1 . %l =2&mN=K& ?"1 ^F&0 L=N2= a=6oK=NQmT"6=2 B-6o"T=2 T=j
&6=rr=2? ?=2 A=Qm1=K a-2 ?=6 ^F&VrKNQm& Ii6 ^F&:=r6=Ni2oe 3-KoKNQm _"6 I_=Nr=Km"r&O
-T i2? N2 _=KQm=J DJr"2o 1&NKK= G=1=6a=2 T=N :=oN22 -?=6 46K(1Qm=2 ?=6 F&:=r6=Ni2o
"irIiK(1=2 _"6=2 #aoKe mN=6Ii 'C-.?-744O 7F&G %//)O l)) Sl)*Rhe E=NK_=N1= _i6?= NJ
B=6_"K&i2o1a=6r"m6=2 1Qm-2 a-6 0=K&i2o ?=1 . %l =2&1$6=Qm=2? a=6r"m6=2 #1- 87DA N2
%8*5O . %l G2e %he >To=K=m2& _i6?= "i1 6=Qm&11&""&KNQm=2 06f2?=2 M=?-Qm N21T=1e
a-2 ?=6 G1$6e =N2 "KKo=J=N2=6 F&42&1&6NQLi2o1o6i2?1"&IO _-2"Qm ?N= 1&NKK=2 G=1=6a=2
=N2=1 A0 ?"22 "irIi?=QL=2 1N2?O _=22 ?"1 A0 Lf2r&No 2NQm& J=m6 N2 ?N= 0=_N22j
6=o=Ki2o =N2IiT=IN=m=2 N1& #:3, ae kqeqe%/)k 5 d %qq'q/ DO :F&:Ke ddd %/)kO lq%+ aoKe
"iQm >2Je %Hhe

Qd;'dKW d9? 1'V]'d9ZI]6K?>Kd9ZIa _P 5$P5!P588A #:0:Ke d %//HO k**q+ :F&:Ke d
%//%O q%hP 7"1 N2 >T1e p a-6o=1=m=2= :iQm_=6&$6NaNK=o _i6?= ?i6Qm 4N2T=IN=j
mi2o ?=6 ^(6$=61Qm"r&=2O V=61-2=2a=6=N2Noi2o=2 i2? B=6J(o=21J"11=2O ?N=
o=Je . q >T1e % X6e / "i11QmKN=nKNQm i2? i2JN&&=KT"6 JNK?&!&No=2 -?=6 "K1 T=1-2j
?=61 r(6?=6i2o1_f6?No "2=6L"22&=2 LiK&i6=KK=2 @_=QL=2 ?N=2=2O =6_=N&=6&e
! ':7C@*AD6+ )<"+<,?<6/ 7"1 ^iK&i6j i2? F&Nr&i2o1r(6?=6i2o10 ae %le%ke%//H
=2&m!K& L=N2= I=N&KNQm=2 >2_=2?i2o1T=1&NJJi2o=2 rf6 ?N= <2?=6i2o ?=1 . %l
>T1e pe 7"m=6 o=K&=2 mN=6rf6 ?N= "KKo=J=N2=2 I=N&KNQm=2 >2_=2?i2o1T=1&NJJi2j
o=2 ?=1 . qp >T1e % N2 ?=6 T=N d2L6"r&&6=&=2 ?=1 ^iK&i6j i2? F&Nr&i2o1r(6j
?=6i2o10 J"no=T=2?=2 3"11i2o ?=1 4N2Noi2o1a=6&6"o10 ae kle/e%//He ,N=6j
2"Qm N1& ?N= <2?=6i2o ?=1 . %l >T1e p =61&J"K1 rf6 ?=2 "J %e%e%//%
T=oN22=2?=2 B@ "2Ii_=2?=2e
1'`9?La _P 5$P8P588$ #:0:Ke d %//lO %q)/+ :F&:Ke d %//lO **phP d2 >T1e l _i6j
?=2 ?N= #_N=?=6 "iro=m-T=2=2h F!&I= k5%H "2o=rfo&e FN= T=r"11&=2 1NQm JN& ?=6
=N2o=1Qm6!2L&=2 B=6Ki1&a=66=Qm2i2o #F!&I= k5/h 1-_N= ?=6 1&=i=6_N6L1"J=2
>ir?=QLi2o 1&NKK=6 G=1=6a=2 N2 B=6!in=6i2o1r!KK=2 #F"&I %Hh T=N =m=J"K1 o=j
J=N22f&INo=2 A-m2i2o1i2&=62=mJ=2 i2? 1-KQm=2 D2&=62=mJ=2 oK=NQmo=1&=KKj
&=2 G=Qm&1&6!o=62e
! ':7C@*AD6+ )<"+<,?<6/ >T1e l F!&I= k5/ _"6=2 =61&J"K1 rf6 AMeO ?N= 2"Qm ?=J
k*eqe%//l #E"o ?=6 ?6N&&=2 \=1i2o NJ :E"oh =2?=2O "2_=2?T"6e 7N= X=i6=o=j
Ki2o o"K& "K1- rf6 ?=2 B@ %//lO _=22 ?"1 AMe ?=J ^Me =2&1$6NQm& -?=6 ?"1 AMe
%//k'%//l I_N1Qm=2 ?=J k8eqe i2? ?=J l%e%ke%//l =2?=&e :=N "T_=NQm=2?=J
AMe %//l'%//pO ?"1 N2 ?=6 @=N& I_N1Qm=2 ?=J %e%e%//p i2? ?=J k8eqe%//p =2j
?=&O 1- ?"11 ?N= X=i6=o=Ki2o NJ B-6M"m6 2-Qm 2NQm& "2_=2?T"6 _"6O N1& ?=6 B@
%//p ?=6 @=N&6"iJ ?=6 =61&J"KNo=2 >2_=2?i2o ?=6 X=i6=o=Ki2oe 42&1$6=Qm=2j
?=1 oNK& rf6 >T1e l F"&I %H #. qp >T1e 8T F"&I p "3h i2? >T1e l F"&I %% #. qp
>T1e 8T F"&I q "3he
a>IP CdK /9?>Kd9Z ?>I ,:F`9?;d9ZII'>d>KK>DX'I _P !=P5AP588[ #:0:Ke d
%//pO lk)*+ :F&:Ke d %//pO 8l/hP 7i6Qm >2rfoi2o =N2=1 2=i=2 F"&I=1 %% "2
>T1e l _i6?=2 ?N= 2"Qm . q >T1e % X6e %H a-2 ?=6 ^F&VrKNQm& T=r6=N&=2 A-mj
2i2o1i2&=62=mJ=2 a-2 ?=2 =N21Qm6!2L=2?=2 G=o=Ki2o=2 ?=1 >T1e l F!&I= k5%H
"i1o=2-JJ=2 #:E76iQL1e %k'*/pqO ))he 7N=1= =6o!2I=2?= X=i6=o=Ki2o _"6
=61&J"K1 rf6 2"Qm ?=J k*eqe%//l =2?=2?= AMe TI_e "ir 2"Qm ?=J k*eqe%//q =6j
r-Ko=2?= CT=6&6"oi2o=2 "2Ii_=2?=2 #. qp >T1e 8 F"&I q "3he 7=6 B=6_=N1 N2
>T1e p "ir . / _i6?= "2 ?N= X=ir"11i2o ?=1 . / 6=?"L&N-2=KK "2o=$"11&e

Q q

dde G=Qm&1=2&_NQLKi2o >2Je k H 5$ Q1'a



Q ) 1:?74.B+

1'"9';a 5888*!AAA*!AA! _P ![P$P5888 #:0:Ke d %///O pHk+ :F&:Ke d %///O lHphP
d2 >T1e l F"&I 8 _i6?= ?N= B=6_=N1i2o "ir . %H? 4F&0 6=?"L&N-2=KK o=!2?=6&
#:E76iQL1e %p'%ppkO 8)he
S1'a !A5A _P =P5!P!A5A #:0:Ke d kH%HO %*)8+ :F&:Ke d kH%HO %l/phP 7N= B=6Ki1&j
a=66=Qm2i2o1T=1Qm6!2Li2o ?=6 . %l >T1e l F!&I= k5%% rf6 =m=J"K1 o=J=N22f&INj
o= A-m2i2o1i2&=62=mJ=2 _N6? =61"&IK-1 "iro=m-T=2e 7"?i6Qm 1N2? ?N= TN1K"2o
"K1 a=66=Qm=2T"6 r=1&o=1&=KK&=2 B=6Ki1&= IiJ l%e%kekH%H =2&r"KK=2e 7N= >irj
m=Ti2o ?=6 . %l >T1e l F!&I= k5%% _N6? ?"JN& T=o6f2?=&O ?"11 ?N= [m-QmL-Jj
$K=]=2 B=6Ki1&a=66=Qm2i2o1T=1Qm6!2Li2o=2 "iro6i2? ?=1 m-m=2 d2a=1&N&N-21j
a-6&6"o1a-KiJ=21 N2 ?=6 V6"]N1 1=K&=2 =N2= 1&=i=6KNQm= >i1_N6Li2o m"&&=e @i?=J
mN2?=6& . %l >T1e l F"&I %H i2? %% #G=o=Ki2o Ii6 :=1&=i=6i2o ?=6 B=6!in=j
6i2o1o=_N22= T=N B=6!in=6i2o "2 =N2 "2?=6=1 =m=J"K1 o=J=N22f&INo=1 A-mj
2i2o1i2&=62=mJ=2h ?N= T=&6-rr=2=2 D2&=62=mJ=2 ?"6"2O _N6&1Qm"r&KNQm 1N22a-Kj
K= B=6!in=6i2o=2 "2 "2?=6= =m=J"K1 o=J=N22f&INo= A-m2i2o1i2&=62=mJ=2
a-6Ii2=mJ=2Y #aoKe :E76iQL1e %*'lqp/O l%he 41 1=N "i1 1&Ke FNQm& ?"m=6 2NQm&
J=m6 =6r-6?=6KNQmO "2 ?N=1=6 G=o=Ki2o _=N&=6mN2 r=1&Iim"K&=2O IiJ"K ?=6=2 >irj
m=Ti2o ?=6 B=6=N2r"Qmi2o ?=6 F&0=1=&I= ?N=2=e
! ':7C@*AD6+ )<"+<,?<6/ 7i6Qm . lp >T1e 8T N?3 ?=1 bF&0 kH%H _=6?=2 . %l
>T1e l F!&I= kj%% IiJ %e%ekH%% =61"&IK-1 "iro=m-T=2e dJ 4N2I=K2=2 T=1&NJJ&
?N=1= X-6JP [. %l >T1e l F"&I k TN1 %% N1& K=&I&J"K1 rf6 AN6&1Qm"r&1M"m6= "2Iij
_=2?=2O ?N= a-6 ?=J %e b"2i"6 kH%% =2?=2e 7=6 2"Qm . %l >T1e l F"&I 8 r=1&j
o=1&=KK&= a=6TK=NT=2?= >T1Qm6=NTi2o1a=6Ki1& i2? ?"1 B-6&6"o1a-KiJ=2 L(22=2
2i6 2-Qm JN& ZN=&o=_N22=2 a=66=Qm2=& _=6?=2O ?N= N2 AN6&1Qm"r&1M"m6=2 =6IN=K&
_=6?=2O ?N= TN1 IiJ l%e 7=I=JT=6 kH%H =2?=2e 4N2= B=66=Qm2i2o JN& ZN=&o=j
_N22=2O ?N= N2 AN6&1Qm"r&1M"m6=2 =6IN=K& _=6?=2O ?N= 2"Qm ?=J l%e 7=I=JT=6
kH%H =2?=2O N1& 2NQm& J=m6 J(oKNQme 4N2= 3=1&1&=KKi2o 2"Qm . %l >T1e l F"&I 8
?=1 >T1Qm6=NTi2o1a=6Ki1&=1 i2? ?=1 B-6&6"o1a-KiJ=21 rN2?=& K=&I&J"KNo IiJ
l%e 7=I=JT=6 kH%H 1&"&&Ye

UUUP +>?>d'd9Z ?>I H 5$

3>DX';VDX> +>?>d'd9ZB 7N= :=1&NJJi2o a=6mN2?=6&O ?"11
5 ?N= _!m6=2? ?=6 F&VrKNQm& o=TNK?=&=2 1&NKK=2 G=1=6a=2 ?i6Qm ?=2 4N2&6N&& =N2=6

F&:=r6=Ni2o ?=6 :=1&=i=6i2o =2&I-o=2 i2?
5 ?N= _!m6=2? =N2=6 F&:=r6=Ni2o o=TNK?=&=2 [1&NKK=2 G=1=6a=2YO ?N= N2 ?N=1=6 @=N&

-m2= 1&=i=6T=K"1&=2?= 3-Ko=2 6="KN1N=6& _=6?=2 L-22&=2O ?i6Qm ?=2 4N2&6N&&
?=6 F&VrKNQm& ?=6 :=1&=i=6i2o Iio=rfm6&

_=6?=2 #aoKe mN=6Ii :3, ae /e8ekHHH 5 d G )/'/8O :F&:Ke dd kHH%O *%+ ae %/e*e
%//q 5 d G q)'/pO :F&:Ke dd %//)O k8he 3f6 ?N= 3!KK= ?=1 CT=6o"2o1 a-2 ?=6
^F&VrKNQm& Ii6 ^F&36=Nm=N& N1& 1N= =N2= ?=2 .. %% i2? %k =2&1$6=Qm=2?= FQmKi11j
T=1&=i=6i2o1a-61Qm6Nr&e 7" ?N= 1&NKK=2 G=1=6a=2 N2 ?N=1=J 3"KK Ii a=61&=i=62
1N2?O -T_-mK 1N= 2NQm& ?i6Qm =N2= B=6!in=6i2o 6="KN1N=6& _=6?=2O m"2?=K& =1 1NQm
N21-r=62 iJ =N2=2 461"&I6="KN1N=6i2o1&"&T=1&"2? #'C-.?-744O 7F&G %//)O l))
Sl)*R+ !74<:FDA:E N2 &@;<FC-O . %l G2e khe d2 ?=2 Z"&=6N"KN=2 #:E76iQL1e
*'%p*HO lpqh _N6? ?N= X-&_=2?NoL=N& ?N=1=6 B-61Qm6Nr& JN& ?=J ,N2_=N1 "ir ?N=
N2 ?=J 2=i=2 0=1=&I =2&m"K&=2=2 <2?=6i2o=2 ?=1 ^6=N1=1 ?=6 1&T=r6=N&=2 ^(6j
$=61Qm"r&=2 T=o6f2?=&e . %l oNK& M=?-Qm i2"Tm!2oNo ?"a-2O -T ?=6 F&:=oN22 -?=6
?N= F&:=r6=Ni2o "iro6i2? =N2=6 o=1=&IKNQm=2 <2?=6i2oO =N2=6 <2?=6i2o ?=6 F"&j
Ii2o -?=6 =N2=6 <2?=6i2o ?=6 &"&1!QmKNQm=2 B=6m!K&2N11= =N2&6N&&e

Q1'a H 5$ >2Je k5l >e >KKo=J=N2= 46K!i&=6i2o=2

l



^^3 O]ZP !\! biKN kH%k 1:?74.B+

#VK'IDX`]';VDX> +>?>d'd9ZB :=&6-rr=2 a-2 . %l _"6=2 TN1 Ii6 >irm=Ti2o ?=6
. %l >T1e l F!&I= k5%% ?i6Qm ?"1 bF&0 kH%H #1e >2Je kh N21T=1e =m=J"K1 o=J=N2j
2f&INo= A-m2i2o1i2&=62=mJ=2e X"Qm ?=2 <2?=6i2o=2 ?i6Qm ?"1 bF&0 kH%H
I!mK=2 _=N&=6mN2 N21T=1e =m=J"KNo= :i2?=1i2&=62=mJ=2 2"Qm V6Na"&N1N=6i2o Ii
?=2 _N6&1Qm"r&KNQm :=&6-rr=2=2e 7" "iQm ?=6 $"6&N=KK=6 B=6Ki1& TI_e ?N= K=?NoKNQm
&=NK_=N1= 0=_!m6i2o ?=6 F&36=Nm=N& N2 ?=2 >2_=2?i2o1T=6=NQm ?=6 B-61Qm6Nr&
r!KK&O =6o=T=2 1NQm "iQm N21-_=N& m!irNo=6 a-6L-JJ=2?= >2_=2?i2o1r!KK=O =&_"
_=22 T=N o=J=N22f&INo=2 ^(6$=61Qm"r&=2 =N2 A=Qm1=K N2 ?=6 :=i6&=NKi2o ?=6
36"o= ?=6 F&:=r6=Ni2o =N2=1 @_=QLT=&6N=T1 NF?e . )q >W a-6Ii2=mJ=2 N1& #aoKe
'C-.?-744O 7F&G %//)O l)) Sl))Rhe . %l m"& o6?1e "iQm NJ 3"KK= ?=1 4N2&6N&&1
-?=6 ?=1 42&r"KK=21 =N2=6 F&:=r6=Ni2o "iro6i2? a-2 . q >T1e % X6e / :=?=i&i2oO
_-T=N ?"22 o=Je >T1e p M=?-Qm L=N2= >ir?=QLi2o ?=6 1&NKK=2 G=1=6a=2 =6r-Ko&e

U&P a>;'d9ZIE>K>VDX ?>I H 5$

1`DX;VDX>K a>;'d9ZIE>K>VDXB 7N= >2_=2?i2o ?=6 B-61Qm6Nr& 1=&I& ?=2 A=Qmj
1=K =N2=6 F&$rKe Ii6 F&:=r6=Ni2o -?=6 iJo=L=m6& -?=6 =N2= <2?=6i2o NJ ,N2TKNQL
"ir ?=2 DJr"2o =N2=6 F&:=r6=Ni2o a-6"i1 #!74<:FDA:E N2 &@;<FC-O . %l G2e /he
7"T=N 1&=KK=2 ?N= N2 . q >T1e % o=6=o=K&=2 E"&T=1&!2?= ?N= ,"i$&"2_=2?i2o1r!KK=
=N2=6 F&:=r6=Ni2o ?"6e . %l N1& "T=6 "iQm T=N :=oN22 -?=6 A=or"KK =N2=6 "in=6m"KT
?=1 ^F&0 o=6=o=K&=2 F&:=r6=Ni2o "2Ii_=2?=2O I: "iro6i2? ?=1 G4dEj0=1=&I=1
ae k8eqekHH* #:0:Ke d kHH*O /%phe
7N= B-61Qm6Nr& rN2?=& L=N2= >2_=2?i2oO _=22 ?N= ^(6$=61Qm"r& TN1m=6 Ii D2j
6=Qm& a-J 3> -m2= B-6KN=o=2 ?=6 &"&1!QmKNQm=2 B-6"i11=&Ii2o=2 "K1 1&T=r6=N&
TI_e ?N= ^(6$=61Qm"r& i2Ii&6=rr=2? "K1 1&$rKe T=m"2?=K& _i6?= #:3, ae %/e*e
%//q 5 d G q)'/pO :F&:Ke dd %//)O k8 SlHRhe 4T=2r"KK1 o6=Nr& . %l 2NQm& T=N =N2=6
2i6 r"L&N1Qm=2 F&36=Nm=N&O I: _=o=2 XNQm&=66=NQm=21 a-2 :=1&=i=6i2o1o6=2I=2
-?=6 ?=6 d2"21$6iQm2"mJ= a-2 36=NT=&6!o=2e XNQm& =6r"11& 1N2? r=62=6 ?N= 6fQLj
_N6L=2?= >T=6L=22i2o =N2=6 F&:=r6=Ni2o "iro6i2? a-2 . )% >T1e l >W #!:0:E
N2 "7DC- dde . %l G2e qhO i2? I_"6 i2"Tm!2oNo ?"a-2O -T 1!J&KNQm= =6o"2o=2=2
36=N1&=KKi2oT=1Qm=N?= "iro=m-T=2 _=6?=2 #!74<:FDA:E N2 &@;<FC-O . %l
G2e %Hhe
J>KI69;VDX>K a>;'d9ZIE>K>VDXB 7N= B-61Qm6Nr& T=IN=m& 1NQm "ir "KK= i2T=1Qm6e
1&$rKe ^(6$=61Qm"r&=2O V=61-2=2a=6=N2Noi2o=2 i2? B=6J(o=21J"11=2O ?N= a-2
?=6 ^F&e T=r6=N& _=6?=2 TI_e "ir a-2 ?=6 ^F&e T=r6=N&= ^(6$=61Qm"r&=2O V=6j
1-2=2a=6=N2Noi2o=2 i2? B=6J(o=21J"11=2O ?N= i2T=1Qm6e 1&$rKe _=6?=2e :=j
1Qm6!2L& F&$rKe 1N2? o6?1e "i1o=1QmK-11=2e 7"1 r-Ko& "i1 . q >T1e k X6e k
,"KT1e %O ?=6 T=1Qm6e F&$rKe NFae . k X6e % a-2 ?=6 ^F&:=r6=Ni2o "i12NJJ&e @_"6
_i6?= ?N= F&:=r6=Ni2o 2"Qm . q >T1e k X6e k ?i6Qm ?"1 bF&0 kHH/ #:0:Ke d
kHH8O k*/ph JA "T B@ kHH/ "iQm "ir F&$rKe NF?e . q >T1e % X6e / "i1o=?=m2&O
?N= 2"Qm ?=2 G=Qm&1a-61Qm6Nr&=2 =N2=1 ZN&oKN=?1&""&1 ?=6 4D -?=6 ?=1 4AG o=j
o6f2?=& _-6?=2 1N2? i2? ?=6=2 FN&I i2? W6& ?=6 0=1Qm!r&1K=N&i2o 1NQm N22=6m"KT
=N2=1 ?N=1=6 F&""&=2 T=rN2?=&e 7=22-Qm ?f6r&= . %l "iQm _=N&=6mN2 o6?1e 2i6 "ir
i2T=1Qm6e F&$rKe Ii6 >2_=2?i2o L-JJ=2O ?" 1NQm ?N= G=o=Ki2o=2 N2 :=Iio "ir
?N= 1&Ke :=m"2?Ki2o a-2 E!&NoL=N&=2 NF?e . q >T1e % X6e / "KK=N2 N2 >T1e p T=rN2j
?=2 i2? N21T=1e >T1e %5l a-2 ?=6 X=i6=o=Ki2o ?"m=6 i2T=6fm6& TK=NT=2 ##E7A+
DC-:E N2 #E7ADC-:E'/..DO . %l G2e 8O klhe 7"a-2 "To=1=m=2 o=_!m6=2 =N2No=
7:> "i1K!2?e ^(6$=61Qm"r&=2O ?N= NJ >21!11NoL=N&11&""& T=1&NJJ&=2 o=J=N2j
2f&INo=2 @_=QL=2 2"Qmo=m=2O ?N=1=KT=2 F&B=6of21&Noi2o=2 _N= N2K!2?e ^(6$=6j
1Qm"r&=2 #aoKe I: >6&e k* 7:> DF>O >6&e k% >T1e * :iQm1&e T 7:> 36"2L6=NQmO

Q *

dBe 0=K&i2o1T=6=NQm >2Je l5p H 5$ Q1'a

p



Q 8 1:?74.B+

>6&e k8 7:> FQm_=?=2he d2 ?N=1=2 3!KK=2 L-JJ& . %l "iQm rf6 T=1Qm6e F&$rKe
Ii6 >2_=2?i2o #=T=21- !:0:E N2 "7DC- dde . %l G2e q+ !74<:FDA:E N2 &@;+
<FC-O . %l G2e /h

&P &>KXG;'9VI ?>I H 5$ Cd `9?>K>9 &7KIDXKV]'>9

5P &>KXG;'9VI Cd `9?>K>9 &7KIDXKV]'>9 ?>I Q1'a

&>KXG;'9VI Cd H \B :=oN22 i2? A=or"KK ?=6 ^F&:=r6=Ni2o 2"Qm . q >T1e % TNK?=2
?N= ,"i$&"2_=2?i2o1r!KK= ?=1 . %l >T1e %5qe
&>KXG;'9VI Cd H -B . ) =2&m!K& =6o!2I=2?= G=o=Ki2o=2 Ii ?=6 N2 . q >T1e % X6e l
o=6=o=K&=2 F&:=r6=Ni2o rf6 V=21N-2jO F&=6T=jO ^6"2L=2j i2? D2&=61&f&Ii2o1L"1j
1=2e >iQm 1-_=N& ?N=1= ^"11=2 2i6 $"6&N=KK 1&$rKe 1N2?O N1& . %l o=Je ?=11=2 >T1e q
=2&1$6=Qm=2? "2Ii_=2?=2O _=22 ?N= F&:=r6=Ni2o &=NK_=N1= T=oN22& -?=6 =6KN1Qm&
#aoKe . ) >2Je /he
&>KXG;'9VI Cd HH = d9? =EB . %l =6o!2I& ?N= "KKo=J=N2= 4N2L-JJ=21=6JN&&j
Ki2o1a-61Qm6Nr& ?=1 . 8e 7=6 2"Qm . %l >T1e %O q i2? ) Ii =6JN&&=K2?= 42&1&6Nj
QLi2o1o=_N22 i2? ?"1 K"ir=2?= 46o=T2N1 "i1 ?=6 T=&6N=TKNQm=2 4N2Li2r&1"6&
1&=KK=2 ?=2 N2 ?N= 4N2L-JJ=21=6JN&&Ki2o =N2o=m=2?=2 0=_N22 ?"6e 7N= F&36=Nj
1&=KKi2o T=1&NJJ&=6 0=_N22= 2"Qm . 8T >T1e k TK=NT& a-2 . %l i2T=6fm6&e
&>KXG;'9VI Cd HH 55 d9? 5!B AN= ?N=1= B-61Qm6Nr&=2 T=6im=2 ?N= FQmKi11j
T=1&=i=6i2o1a-61Qm6Nr&=2 ?=1 . %l "ir ?=J 06i2?o=?"2L=2O ?"11 ?N= _!m6=2?
?=6 7"i=6 ?=6 F&VrKNQm& o=TNK?=&=2 1&NKK=2 G=1=6a=2 T=N A=or"KK ?=6 F&VrKNQm&
o6?1e ?=6 :=1&=i=6i2o IiIirfm6=2 1N2?e 7" 1NQm ?N= M=_=NKNo=2 B-61Qm6Nr&=2 2NQm&
fT=61Qm2=N?=2O T=1&=m& I_N1Qm=2 Nm2=2 L=N2= ^-2Li66=2I #!74<:FDA:E N2 &@;+
<FC-O . %l G2e %khe
&>KXG;'9VI Cd HH 5[ EVI 58B . %p >T1e l F"&I p a=6_=N1& "ir . %l >T1e le . %p
>T1e l =2&m!K& rf6 Z=m6"Trfm6i2o=2O ?N= Nm6= D61"Qm= N2 a-6-6o"21Qm"r&KNQm=6
@=N& m"T=2O =N2= >i11Qmf&&i2o1rNL&N-2e Z=m6"Trfm6i2o=2 o=K&=2 "K1 0=_N22"i1j
1Qmf&&i2o=2 ?=6 W0 "2 ?=2 WE #Ii 7=&"NK1 1e . %p >2Je lkkhe ZN2?=6"Trfm6i2j
o=2O ?N= Nm6= D61"Qm= N2 a-6-6o"21Qm"r&KNQm=6 @=N& m"T=2O _=6?=2 "K1 4N2K"o=
?i6Qm ?=2 WE N2 ?N= W0 T=m"2?=K& #Ii 7=&"NK1 1e . %p >2Je ll%he 7=6"6&No=
Z=m6j i2? ZN2?=6"Trfm6i2o=2 o=K&=2 N2 ?=J @=N&$i2L& "K1 =6r-Ko&O N2 ?=J ?"1
AMe ?=6 W0 =2?=&O _-T=N ?=6 E=NK_=6&"21"&I 2"Qm . %l >T1e l F"&I % 1&=&1 ?=6
a-6-6o"21Qm"r&KNQm=2 @=N& IiIi6=Qm2=2 N1& #aoKe "iQm . %p >2Je lpHhe
&>KXG;'9VI Cd H !!B 7=6 0=_N22 "i1 ?=6 >irK(1i2o ?=6 1&NKK=2 G=1=6a=2 2"Qm
. %l o=m(6& T=N 0=2-11=21Qm"r&=2 Ii ?=J NJ ZN&oKN=?=6o=1Qm!r& =6_N6&1Qm"r&=j
&=2 CT=61Qmi11 NF?e . kke FN= L(22=2 "K1 o=2-11=21Qm"r&KNQm= GfQLa=6of&i2o
"i1o=1Qmf&&=& _=6?=2 i2? 1N2? N2 ?N=1=J 3"KK 2"Qm Z"no"T= ?=1 . kk "K1 :> "Tj
IN=mT"6 #3N2ZN2e XGA ae %/e*e%/*8O F&4^ ^F&0 %/** . %l X6e % EIe lhe

!P &>KXG;'9VI Cd &7KIDXKV]'>9 ?>I "1'a

&>KXG;'9VI Cd H \ "1'aB 7N= N2 . %l a-6o=1Qm6N=T=2= FQmKi11TNK"2I i2&=6KN=o&
?=2 1&Ke 0=_N22=6JN&&Ki2o1a-61Qm6Nr&=2 ?=1 . q 4F&0O ?=6 fT=6 . 8 "iQm rf6 ?N=
2"Qm . %l >T1e % "irIi1&=KK=2?= FQmKi11TNK"2I oNK& #G qp >T1e % F"&I l ^F&Ghe
&>KXG;'9VI Cd H \E "1'aP FQmKi11j i2? >2r"2o1TNK"2I=2 2"Qm . %l _=6?=2 a-2
. qT 4F&0 =6r"11&e

Q1'a H 5$ >2Je p5) >e >KKo=J=N2= 46K!i&=6i2o=2

q

)



^^3 O]ZP !\! biKN kH%k 1:?74.B+

&>KXG;'9VI Cd H - "1'aB . %l =2&m!K& NJ B=6m!K&2N1 Ii . ) 4F&0 F-2?=6a-6j
1Qm6Nr&=2 fT=6 ?N= :=_=6&i2o ?=6 A0 ?=1 :Be . ) >T1e p L-66=1$-2?N=6& JN&
?=2 :iQm_=6&j42&2"mJ=J(oKNQmL=N&=2 ?=1 . ) >T1e % X6e p F"&I p 4F&0 rf6
A0O ?N= NJ >21QmKi11 "2 Nm6= 42&2"mJ= i2=2&o=K&KNQm "2 =N2= 2"Qm . q >T1e %
X6e / a-2 ?=6 ^F&e T=r6=N&= ^(6$=61Qm"r& fT=6K"11=2 _=6?=2e
&>KXG;'9VI Cd H 5- "1'aB . %l 1Qm"rr& rf6 ?N= 3!KK= ?=1 4N2&6N&&1 =N2=6 ^F&:=j
r6=Ni2o rf6 ?"1 TN1m=6 ?=6 ^F&VrKNQm& i2&=6KN=o=2?= :B =N2=2 0=_N226="KN1N=j
6i2o1&"&T=1&"2? 2=T=2 ?=J . %) 4F&0O ?=11=2 >2_=2?T"6L=N& N2 ?=2 a-2 NmJ
T=&6-rr=2=2 3!KK=2 i2T=6fm6& TK=NT&e . %l rN2?=& "ir ?N= B=6!in=6i2o =N2=1 _N6&j
1Qm"r&KNQm=2 0=1Qm!r&1T=&6N=T1 ?"m=6 L=N2= >2_=2?i2o #30 ,=11e ae 8elekH%H 5
%% ^ l*)8'HqO 430 kH%HO %kpkO 26L6eO >Ie :3, d G l%'%Hhe

$P &>KXG;'9VI Cd HH 50 d9? 5= 3"U.Wa>I>'C

. %l oNK& #o6?1eh "iQm rf6 ?N= G4dEj>0 #!74<:FDA:E N2 &@;<FC-O . %l G2e %qhe
:=NJ A=Qm1=K a-2 ?=6 1&$rKe dJJ-TNKN=2j>0 Ii6 1&T=r6=N&=2 G4dEj>0 1N2? ?"j
2"Qm o=Je . %l >T1e % i2? l ?N= 1&NKK=2 G=1=6a=2 "irIi?=QL=2e >T_=NQm=2? a-2
. %l 1N2? M=?-Qm 2"Qm . %8 >T1e ) G4dEj0=1=&I ?N= A0 N2 ?=6 >2r"2o1TNK"2I
JN& ?=2 r-6&o=rfm6&=2 >^ 5 i2? 2NQm& JN& ?=2 E=NK_=6&=2 5 "2Ii1=&I=2e 7"j
?i6Qm _=6?=2 A=6&!2?=6i2o=2O ?N= _!m6=2? ?=6 1&r6=N=2 @=N& "2o=r"KK=2 1N2?O N2
?N= :=1&=i=6i2o ?=6 ?"22 1&$rKe >0 =N2T=I-o=2e 7N=1 1=N "2?=61 "K1 N2 . %l
>T1e k o=6=Qm&r=6&No&O _=NK =1 1NQm T=N ?=6 F&:=r6=Ni2o ?=6 G4dEj>0 2NQm& iJ =Nj
2= :=of21&Noi2oO 1-2?=62 iJ =N2 &=Qm2N1Qm=1 ZN&&=K m"2?=K=O iJ ?"1 V6N2IN$ ?=6
"i11QmKN=nKNQm=2 :=1&=i=6i2o T=NJ >2&=NK1=No2=6 Ii =66=NQm=2 #aoKe :E76iQL1e
%)'pHk)O kphe

[P &>KXG;'9VI Cd H 0 a>F1'a

7N= 2"Qm . %l "K1 3-Ko= ?=1 4N2&6N&&1 =N2=6 F&:=r6=Ni2o a-6o=1Qm6N=T=2= 0=_N22j
6="KN1N=6i2o 1QmK!o& 2"Qm . * 0=_F&0 "ir ?=2 0=_=6T==6&6"o ?i6QmO _=NK =1 1NQm
2NQm& iJ =N2=2 a-2 ?=6 0=_=6T==6&6"o1T=1&=i=6i2o "i1o=1QmK-11=2=2 0=_N22
"i1 ?=6 B=6!in=6i2o -?=6 >iro"T= =N2=1 0=_=6T=T=&6N=T1 m"2?=K& #aoKe mN=6Ii
:3, ae %/e*e%//q 5 d G q)'/pO :F&:Ke dd %//)O k8+ ae kHe%HekHHp 5 d G %%'HlO
:F&:Ke dd kHHqO q8%he . %l oNK& ?=J2"Qm "iQm rf6 ?N= 46JN&&Ki2o ?=1 0=_=6T==6j
&6"o1 #!74<:FDA:E N2 &@;<FC-O . %l G2e %p+ 87DA N2 %8*5O . %l G2e phe

4N21&_=NK=2 r6=Ne

Q /

Be B=6m!K&2N1 Ii "2?=6=2 B-61Qm6Nr&=2 >2Je )5%H H 5$ Q1'a

*

8

/5%H



Q %H 1:?74.B+

+P "K;Gd'>Kd9Z>9 Cd 2EIP 5B
"9?> ?>K Q6K4>KIDX`]'I'>d>K4];VDX' >V9>K `9IDX;V>W
Y>9? I'>d>KE>]K>V'>9 Q6K4>KIDX`]'@ J>KI79>9_>K>V9VW

Zd9Z 7?>K &>K:6Z>9I:`II>

UP .`'E>I'`9?I_7K`dII>'Cd9Z>9B "V9'KV'' V9 ?V> Q6K4>KIDX`]'W
I'>d>KE>]K>Vd9Z

5P 1'>d>K4];VDX'VZ> Q6K4>KIDX`]'@ J>KI79>9_>K>V9VZd9Z 7?>K &>K:6Z>9IW
:`II>

>T1e % oNK& N2 1iTM=L&Na=6 ,N21NQm& rf6 1&$rKe ^(6$=61Qm"r&=2O V=61-2=2a=6=N2Nj
oi2o=2 -?=6 B=6J(o=21J"11=2 NFae . % >T1e % X6e %5)e
Q6K4>KIDX`]'>9 1N2? Mi6e V=61-2=2 NFae . % >T1e % X6e %5pe ,N=6Ii I!mK=2 ^"$j
0=1e #N21T=1e >0O ^0">O 0JT, S2=T1& D0 m"r&i2o1T=1Qm6!2L&R i2? 4i6-$!Nj
1Qm= 0=1=KK1Qm"r&=2hO 0=2-11=21Qm"r&=2 =N21QmKN=nKNQm ?=6 4i6-$!N1Qm=2 0=2-1j
1=21Qm"r&=2O B=61NQm=6i2o1j i2? V=21N-21a=6=N2= "ir 0=o=21=N&NoL=N& i2?
1-21&No= Mi6e V=61-2=2 ?=1 $6Na"&=2 G=Qm&1 #"K1- N21T=1e 6=Qm&1r!mNo= B=6=N2=O
.. k% rre :0:he
J>KI79>9_>K>V9VZd9Z>9 1N2? 2NQm& 6=Qm&1r!mNo= B=6=N2= NF?e . qp :0:e 7N=
:=o6Nrr= ?=1 2NQm& 6=Qm&1r!mNo=2 B=6=N21 N2 . % >T1e % X6e q i2? N2 . qp :0:
1N2? N?=2&N1Qm #:3, ae kqe)e%/8p 5 06F p'8kO :F&:Ke dd %/8pO *q% S*q/Rhe
&>K:6Z>9I:`II>B 7=6 :=o6Nrr B=6J(o=21J"11= N1& oK=NQmT=?=i&=2? JN& ?=J
:=o6Nrr [2NQm& 6=Qm&1r!mNo=1 @_=QLa=6J(o=2Y NFae . % >T1e % X6e q #27-<.E N2
2.=:<.99O . %l G2e kHhe D2&=6 @_=QLa=6J(o=2 1N2? "K1 WT=6T=o6Nrr >21&"K&=2O
F&Nr&i2o=2 i2? 1-21&No= @_=QLa=6J(o=2 Ii a=61&=m=2 #1e . l >2Je k%he
,9E>IDXKG9<'> 1'>d>K4];VDX'B B-6"i11=&Ii2o N1& o6?1eO ?"11 =1 1NQm iJ =N2=
i2T=1Qm6e 1&$rKe ^(6$=61Qm"r&O V=61-2=2a=6=N2Noi2o -?=6 B=6J(o=21J"11= m"2j
?=K&O ?N= TN1K"2o 2NQm& a-2 ?=6 ^F&e T=r6=N& _"6e >ir T=1Qm6e F&$rKe N1& . %l >T1e %
2NQm& "2_=2?T"6e 4N2= >i12"mJ= T=1&=m& M=?-QmO 1-_=N& ?i6Qm a=6=N2I=K&=
7:> ?N= F&:=r6=Ni2o=2 ?=1 . q "iQm "ir "i1K!2?e ^(6$=61Qm"r&=2 "i1o=_=N&=&
_=6?=2 #1e >2Je phe

!P +>]K>Vd9Z _79 ?>K Q6K4>KIDX`]'I'>d>K

7=6 E"&T=1&"2? ?=1 >T1e % F"&I % a=6K"2o&O ?"11 =N2= TN1K"2o 1&$rKe ^(6$=61Qm"r&O
V=61-2=2a=6=N2Noi2o -?=6 B=6J(o=21J"11= [a-2 ?=6 ^F&e T=r6=N&Y _N6?e Z"nj
o=TKNQm 1N2? "KK=N2 F&:=r6=Ni2o=2 2"Qm ?=i&1Qm=J G=Qm&O ?" 1-KQm= 2"Qm "i1K!2?e
G=Qm& rf6 7=i&1QmK"2? L=N2= AN6Li2o =2&r"K&=2 L(22=2 ##E7ADC-:E N2 #E7A+
DC-:E'/..DO . %l G2e %%heA-6"ir ?N=1= :=r6=Ni2o T=6im&O N1& i2=6m=TKNQme F-j
_-mK ?i6Qm 0=1=&I=1!2?=6i2o=2 "i1o=K(1&= -?=6 ?i6Qm 0=1=&I T=1&NJJ&=
06f2?=O "K1 "iQm ?i6Qm &"&1!QmKNQm= B=6!2?=6i2o =N2&6=&=2?= DJ1&!2?= L-Jj
J=2 rf6 ?N= F&:=r6=Ni2o N2 :=&6"Qm& #:E76iQL1e *'%p*HO lpqhe F-KQm= &"&1!Qmj
KNQm=2 DJ1&!2?= L(22=2 NJ 0=1Qm!r&1I_=QL i2? N2 ?=6 E!&NoL=N& ?=6 ^(6$=6j
1Qm"r&O V=61-2=2a=6=N2Noi2o -?=6 B=6J(o=21J"11= T=o6f2?=& KN=o=2e 7N=
fT=6_N=o=2?= >2I"mK o=1=&IKNQm=6 :=r6=Ni2o=2 a-2 ?=6 ^F&e 2=22& . qO M=?-Qm
oNK& . %l >T1e % "iQm rf6 1-21&No= o=1=&IKNQm= :=r6=Ni2o=2e

Q1'a H 5$ >2Je %%5%k :e >T1e %P 42?= ?=6 ^F&VrKNQm&

%%

%k



^^3 O]ZP !\! biKN kH%k 1:?74.B+

>T1e % T=&6Nrr& "K1 o6?1e 1iT1N?N!6= X-6J 2NQm& "KKoe ?N= :==2?Noi2o ?=6 F&VrKNQm&O
1-2?=62 2i6 ?=2 T=1-2?=6=2 3"KK ?=1 CT=6o"2o1 ?=6 F&VrKNQm& Ii6 F&:=r6=Ni2oe
42&r!KK& ?N= F&VrKNQm& ?"m=6 =&_" N2r-Ko= B=6!in=6i2oO DJ_"2?Ki2o -?=6 \N`iNj
?"&N-2O o=K&=2 N21-_=N& ?N= "KKo=J=N2=2 0=_N22=6JN&&Ki2o1a-61Qm6Nr&=2 ?=6 M=j
_=NKNo=2 4N2Li2r&1"6& ?=1 4F&0 -?=6 =&_" =N2o6=Nr=2?= F-2?=6a-61Qm6Nr&=2 o=Je
.. %%O %k TI_e "i1 ?=J DJ_F&0e 3f6 ?N= >iro"T= =N2=1 0=_=6T=T=&6N=T1 oNK&
. %) 4F&0 i2? rf6 ?=11=2 B=6$"Qm&i2o N1& ?"1 A"mK6=Qm& Ii o=_!m6=2 #:3, ae
%le%%e%/)l 5 06F %')l FO :F&:Ke ddd %/)pO %kp+ 'C-.?-744O 7F&G %//)O l))he
BoKe Ii ?=2 a-2 >T1e % 2NQm& =6r"11&=2 3!KK=2 r=62=6 >2Je pe

UUP 3>DX'I]7;Z>B 2d]I'>;;d9Z >V9>K 1DX;dIIEV;`9C `d] ?>9 c>V'W
4d9<' ?>K +>>9?VZd9Z ?>K 1'>d>K4];VDX'

5P 2d]I'>;;d9Z >V9>K 1DX;dIIEV;`9C

A=Qm1=K& =N2= ^(6$=61Qm"r&O V=61-2=2a=6=N2Noi2o -?=6 B=6J(o=21J"11= a-2
?=6 F&VrKNQm& Ii6 F&36=Nm=N&O N1& o=Je >T1e % =N2= FQmKi11TNK"2I "irIi1&=KK=2e d2
?=6 FQmKi11TNK"2I 1N2? ?N= A0 2"Qm >T1e l JN& ?=J E=NK_=6& "2Ii1=&I=2e 7"JN&
_N6? IiJ @=N&$i2L& ?=1 46K(1Qm=21 ?=6 F&VrKNQm& ?N= :=1&=i=6i2o ?=6 1&NKK=2 G=j
1=6a=2 1NQm=6o=1&=KK&e 7=6 0=1=&Io=T=6 m"& ?i6Qm ?N= 4N2rfoi2o ?=1 . %l N2 ?"1
^F&0 ?N= r6fm=6= F&6=N&r6"o=O -T ?=6 CT=6o"2o a-2 ?=6 F&VrKNQm& Ii6 F&:=r6=Ni2o
Ii6 :=1&=i=6i2o ?=6 T=NJ >i11Qm=N?=2 "i1 ?=6 F&VrKNQm& a-6m"2?=2=2 1&NKK=2 G=j
1=6a=2 rfm6= #a=62=N2=2? :3, ae kqeqe%/)k 5 d %qq'q/ DO :F&:Ke ddd %/)kO lq%O
T=M"m=2? >-F:@O F&^-2o6G=$e %/)8O k*l Sk8pRhO =2&1QmN=?=2e
d2 ?N= FQmKi11TNK"2I 1N2? ?N= A0 "irIi2=mJ=2O ?N= TN1m=6 ?=6 46IN=Ki2o a-2
0=_N22=N2Lf2r&=2 o=?N=2& m"T=2e F&$rKeO ?N= 2"Qm . 8 >T1e k o=_=6TKNQm= 4N2j
Lf2r&= T=IN=m=2 #I: ^"$0=1eh m"T=2 ?"2"Qm 1!J&KNQm= A0 N2 ?N= FQmKi11TNK"2I
"irIi2=mJ=2O "2?=6= F&$rKe ?"o=o=2 2i6 ?N=M=2No=2 A0O ?N= TN1K"2o ?=6 46IN=j
Ki2o a-2 0=_N22=N2Lf2r&=2 o=?N=2& m"T=2e
7N= FQmKi11TNK"2I ?N=2& "KK=N2 1&Ke @_=QL=2 #!74<:FDA:E N2 &@;<FC-O . %l
G2e %/he 41 1N2? ?"m=6 ?N= 1&Ke 0=_N22=6JN&&Ki2o1a-61Qm6Nr&=2 J"no=TKNQm #^F&G
qp >T1e % F"&I lhe A0O rf6 ?N= =N2 1&Ke >L&NaN=6i2o1j -?=6 V"11NaN=6i2o1a=6T-&
T=1&=m&O 1N2? ?"m=6 2NQm& "i1Ii_=N1=2 #:3, ae kHe%HekHHp 5 d G %%'HlO :F&:Ke dd
kHHqO q8%+ ae /e8ekHHH 5 d G )/'/8O :F&:Ke dd kHH%O *%O N2 :=Iio "ir 1=KT1&j
o=1Qm"rr=2= NJJ"&=6N=KK= A0+ ^F&, qp+ !74<:FDA:E N2 &@;<FC-O . %l G2e %/+
!:0:E N2 "7DC- dde . %l G2e %*+ "> #E7ADC-:E N2 #E7ADC-:E'/..DO . %l
G2e lk+ &7AA N2 $E9DA ) 17?90O . %l G2e p/ephe
+dDX]bXKd9ZI4];VDX'B B-2 >T1e % _=6?=2 Ii2!Qm1& ?N= 2"Qm m"2?=K16=Qm&Ke
B-61Qm6Nr&=2 Ii6 :iQmrfm6i2o a=6$rKNQm&=&=2 ^(6$=61Qm"r&=2 =6r"11&O ?N= o=Je
. 8 >T1e k 4N2Lf2r&= "i1 0=_=6T=T=&6N=T =6IN=K=2e :iQmrfm6i2o1$rKNQm&No= ^(6j
$=61Qm"r&=2 1N2? ?"JN& 1&=&1 Ii6 >ir1&=KKi2o =N2=6 FQmKi11TNK"2I a=6$rKNQm&=&e
Q>V9> +dDX]bXKd9ZI4];VDX'B :=N ^(6$=61Qm"r&=2O V=61-2=2a=6=N2Noi2o=2 i2?
B=6J(o=21J"11=2O ?N= m"2?=K16=Qm&Ke L=N2=6 :iQmrfm6i2o1$rKNQm& i2&=6KN=o=2O
N1& Ii ?Nrr=6=2IN=6=2e
! %+"D<<+D<B;<=C+/ F-_=N& ?N= 4N2Lf2r&= ?=2 0=_N22=N2Li2r&1"6&=2 NFae . k
>T1e % X6e %O k -?=6 l 4F&0 #\"2?j i2? 3-61&_N6&1Qm"r&O 0=_=6T=T=&6N=TO 1=KTj
1&!2?No= >6T=N&h IiIi6=Qm2=2 1N2?O T=1&=m& ?N= B=6$rKNQm&i2o Ii6 >ir1&=KKi2o =Nj
2=6 FQmKi11TNK"2IO ?=22 . %l >T1e % T=I_=QL& ?N= 1&Ke 46r"11i2o "KK=6 B=6j
J(o=21J=m6i2o=2 _!m6=2? ?=6 @=N& ?=6 F&VrKNQm&e :=N 46JN&&Ki2o ?=1 0=_N221

Q %%

dde G=Qm&1r-Ko= >2Je %k5%l H 5$ Q1'a

%l



Q %k 1:?74.B+

?i6Qm 4N22"mJ=fT=61Qmi116=Qm2i2o N1& ?"m=6 2"Qm G qp >T1e % F"&I p ^F&G ?N=
>2_=N1i2o N2 G pe) >T1e % 4F&G =2&1$6=Qm=2? "2Ii_=2?=2 i2? "ir ?=2 @=N&j
$i2L& ?=6 :==2?Noi2o ?=6 F&VrKNQm& =N2= CT=6o"2o1TNK"2I "irIi1&=KK=2e d2 ?N=1=6
1N2? ?N= 2"Qm G pe) 4F&G 2-&_=2?No=2 0=_N22L-66=L&i6=2 a-6Ii2=mJ=2e ,N=j
6"i1 N1& 1-?"22 ?N= FQmKi11TNK"2I Ii =2&_NQL=K2 #:E76iQL1e *'%p*HO qp)O
:E76iQL1e *'ql%HO %khe dJ 4N2I=K2=2 1N2? "K1- ?=6 :=1&=i=6i2o Ii i2&=6_=6j
r=2P
5 ?=6 CT=61Qmi11 ?=6 :=&6N=T1=N22"mJ=2 fT=6 ?N= :=&6N=T1"i1o"T=2O
5 "K1 3-Ko= ?=1 A=Qm1=K1 ?=6 0=_N22=6JN&&Ki2o1"6& ?N= =6r-6?=6KNQm=2 ,N2Iij

i2? >T6=Qm2i2o=2 1-_N=
5 ?=6 1-oe 42&1&6NQLi2o1o=_N22O 2!JKNQm ?N= "iro=?=QL&=2 1&NKK=2 G=1=6a=2e
! 1+D<+ %+"D<<+D<B;<=C+/ :=N 4N2Lf2r&=2O ?N= L=N2= 0=_N22=N2Lf2r&= ?"61&=KK=2
#I: B=6=N2 JN& 4N2Lf2r&=2 "i1 BiBhO T=1&=m& mN2o=o=2 L=N2= B=6$rKNQm&i2o Ii6
>ir1&=KKi2o =N2=6 FQmKi11TNK"2I #!:0:E N2 "7DC- dde . %l G2e %)hO ?=22 T=N ?N=j
1=2 CT=61Qmi11=N2Lf2r&=2 NFae . k >T1e % X6e qj* 4F&0 N1& :B 2NQm& ?=2LT"6e
7N= 1&NKK=2 G=1=6a=2 i2&=6KN=o=2 mN=6 NJ 06i2?1"&I "iQm _!m6=2? ?=6 F&VrKNQm&
2NQm& ?=6 :=1&=i=6i2oe 4N2= >i12"mJ= T=1&=m& rf6 _=1=2&KNQm= :=&=NKNoi2o=2
NFae . %* 4F&0 #aoKe >T1e pO >2Je 8H rrehe
1'>d>K;VDX> +>X`9?;d9Z ?>I ;`d]>9?>9 a>FV99I d9? ?>I "9'I'KVD<d9ZIW
Z>FV99IB \"ir=2?=6 0=_N22 i2? 42&1&6NQLi2o1o=_N22 i2&=6KN=o=2 ?=6 &"6NrKNj
Qm=2 ^F&e ?=1 . kle 36=NT=&6!o= o=Je . %) >T1e p 4F&0 oore NBJe .. %pO %8
>T1e l 4F&0 1N2? 2NQm& Ii o=_!m6=2 ##E7ADC-:E N2 #E7ADC-:E'/..DO . %l
G2e %/he

!P c>V'4d9<' ?>K 1DX;dIIEV;`9CW2d]I'>;;d9Z

ZN& ?=J 4N2o6=Nr=2 ?=6 F&:=r6=Ni2o N1& ?N= FQmKi11TNK"2I "ir ?=2 E"o "irIi1&=Kj
K=2O ?=6 ?=J :=oN22 ?=6 F&:=r6=Ni2o i2JN&&=KT"6 a-6"i1o=m& #!74<:FDA:E N2
&@;<FC-O . %l G2e %8he d21-_=N& 1&=KK& . %l >T1e % =N2= 1$=IN=KK= G=o=Ki2o ?"6O
?N= . p >T1e % 4F&0 a-6o=m&e
7=6 :NK"2I1&NQm&"o ?=1 . %l >T1e % L"22 5 M= 2"Qm :=r6=Ni2o1&"&T=1&"2? i2?
\"ir ?=1 AMe 5 JN& ?=J 42?= ?=1 AMe TI_e B@ Ii1"JJ=2r"KK=2 -?=6 N2 ?=11=2
B=6K"ir KN=o=2e FiTM=L&Na= F&:=r6=Ni2o=2O ?me ?N=M=2No=2 F&:=r6=Ni2o=2O ?N= rf6
?N= N2 ?=6 B-61Qm6Nr& "iro=rfm6&=2 ^(6$=61Qm"r&=2 o=K&=2 #I: . q >T1e % X6e %O
kO k" i2? %qh _=6?=2 i2JN&&=KT"6 _N6L1"JO _=22 i2? 1-K"2o= ?"1 0=1=&I ?N= :=j
r6=Ni2o 2-6JN=6& i2? ?N= ^(6$=61Qm"r& ?=J E"&T=1&"2? ?=6 :=r6=Ni2o =2&1$6NQm&
#,@0:<3@@:E N2 'AE:CB Bdde . %l G2e qhe ,N=6 L"22 1NQm ?N= B=6$rKNQm&i2o Ii6
>ir1&=KKi2o =N2=6 FQmKi11TNK"2I Ii =N2=J T=KN=TNo=2 @=N&$i2L&O "iQm NJ B=6K"ir
?=1 AMe TI_e B@ =6o=T=2e 46r-6?=6& ?N= :=r6=Ni2o1a-61Qm6Nr& mN2o=o=2O ?"11 ?N=
B-6"i11=&Ii2o=2 ?=6 F&:=r6=Ni2o rf6 ?=2 o=1"J&=2 B@ a-6KN=o=2 Jf11=2 #.. )H
>T1e kO )l >T1e k >WhO N1& ?N= FQmKi11TNK"2I "ir ?=2 FQmKi11 =N2=1 B@ Ii =61&=Kj
K=2O "iQm _=22 ?"1 AMe a-J ^Me "T_=NQm& #87DA N2 %8*5O . %l G2e %qhe

4N21&_=NK=2 r6=Ne

Q1'a H 5$ >2Je %l5kH :e >T1e %P 42?= ?=6 ^F&VrKNQm&

%p

%q5kH



^^3 O]ZP !\! biKN kH%k 1:?74.B+

(P "K;Gd'>Kd9Z>9 Cd 2EIP !B
"K;6IDX>9 ?>K 1'>d>KE>]K>Vd9Z >V9>K Q6K4>KIDX`]'@

J>KI79>9_>K>V9VZd9Z 7?>K &>K:6Z>9I:`II>

UP .`'E>I'`9?I_7K`dII>'Cd9Z>9B "V9> I'>d>KE>]K>V'> Q6K4>KIDX`]'@
J>KI79>9_>K>V9VZd9Z 7?>K &>K:6Z>9I:`II> FVK? I'>d>K4];VDX'VZ
d9? >K:V''>;' VXK>9 a>FV99 ?dKDX +>'KV>EI_>K:6Z>9I_>KZ;>VDX

5P 1'>d>KE>]K>V'> Q6K4>KIDX`]'@ J>KI79>9_>K>V9VZd9Z 7?>K &>K:6Z>9IW
:`II>

>T1e k -6?2=& "2O ?"11 "ir ?=2 @=N&$i2L& ?=1 4N2&6N&&1 N2 ?N= F&VrKNQm& =N2= >2j
r"2o1TNK"2I "irIi1&=KK=2 N1&e 7N= B-61Qm6Nr& 6=o=K& ?"JN& ?N= 3-Ko=2 ?=1 46K(j
1Qm=21 ?=6 F&:=r6=Ni2o =N2=6 ^(6$=61Qm"r&O V=61-2=2a=6=N2Noi2o -?=6 B=6j
J(o=21J"11= JN& "21QmKN=n=2?=J 4N2&6N&& N2 ?N= F&VrKNQm&+ a=6K"2o& _N6?
?"6fT=6 mN2"i1 =N2= 0=_N22=6JN&&Ki2o ?i6Qm :BjB=6oK=NQme >?6=11"& ?=1 >T1e k
1N2? ?N= oK=NQm=2 G=Qm&1&6!o=6 _N= 2"Qm >T1e %e 7"1 ?-6& >i1o=rfm6&= oNK& Ii
>T1e k =2&1$6=Qm=2? #aoKe >2Je %%he >iQm >T1e k m"& rf6 F&=i=6"i1K!2?=6 N?G
L=N2= $6"L&N1Qm= :=?=i&i2oO 1-2?=62 oNK& rf6 3!KK= ?=6 i2T=1Qm6!2L&=2 F&VrKNQm&
o=Je . % >T1e %e

!P "V9'KV'' V9 ?V> 1'>d>K4];VDX'

AN= 2"Qm >T1e % L(22=2 rf6 ?=2 4N2&6N&& N2 ?N= F&VrKNQm& 2"Qm >T1e k ?i6Qm 0=j
1=&I -?=6 0=1=&I=1!2?=6i2o T=1&NJJ&= 06f2?= _N= "iQm ?i6Qm &"&1!QmKNQm=
B=6!2?=6i2o =N2&6=&=2?= DJ1&!2?= a=6"2&_-6&KNQm 1=N2e F=KT1& _=22 ?=6 4N2&6N&&
N2 ?N= F&VrKNQm& 2i6 a-6fT=6o=m=2? N1&O N1& >T1e k "2Ii_=2?=2 i2? =N2= >2r"2o1j
TNK"2I "irIi1&=KK=2 #3N2ZN2 XGA ae %/e*e%/*8O F&4^ ^F&0 %/** . %l X6e %+
!:0:E N2 "7DC- dde . %l G2e k8+ #E7ADC-:E N2 #E7ADC-:E'/..DO . %l G2e k/he
7"1 oNK& "iQmO _=22 ?N= >i1_N6Li2o=2 2i6 o=6N2o 1N2?e B-2 . %l >T1e k =6r"11&
1N2? "iQm ?N= 3!KK= ?=6 F&:=r6=Ni2o o=Je . q >T1e % X6e /e ,N=6 Jf11=2 M=?-Qm
?N= :=1-2?=6m=N&=2 ?=1 . %l >T1e p F"&I k T="Qm&=& _=6?=2 #aoKe >2Je /H rrehe

$P "K:V'';d9Z ?>I a>FV99I ?dKDX +>'KV>EI_>K:6Z>9I_>KZ;>VDX

>T1e k 1N=m& ?N= Z(oKNQmL=N&O _!m6=2? ?=6 F&:=r6=Ni2o =2&1&"2?=2= 0=_N22=
1&r6=N Ii m"K&=2O 2i6 T=N ?=6 46JN&&Ki2o ?=1 0=_N221 ?i6Qm :BjB=6oK=NQm a-6e
3f6 ?N= 46JN&&Ki2o ?=1 0=_N221 ?i6Qm 4N22"mJ=jCT=61Qmi116=Qm2i2o 2"Qm
. p >T1e l 4F&0 N1& ?N= >ir1&=KKi2o =N2=6 >2r"2o1TNK"2I 2NQm& a-6o=1=m=2e 46j
JN&&=K& ?N= ^(6$=61Qm"r&O V=61-2=2a=6=N2Noi2o -?=6 B=6J(o=21J"11= Nm6=2 0=j
_N22 2"Qm A=or"KK ?=6 F&:=r6=Ni2o ?i6Qm CT=61Qmi116=Qm2i2oO N1& 1N= 2"Qm ?=J
A-6&K"i& ?=6 B-61Qm6Nr& 2NQm& Ii6 >ir1&=KKi2o =N2=6 >2r"2o1TNK"2I T=6=Qm&No&
JN& ?=6 3-Ko=O ?"11 ?N= >irK(1i2o 1&NKK=6 G=1=6a=2 _!m6=2? ?=6 F&VrKNQm& Ii6 0=j
_N226="KN1N=6i2o rfm6&O "iQm 1-_=N& 1N= _!m6=2? ?=6 @=N& ?=6 F&36=Nm=N& o=TNK?=&
_i6?=2 #1- ,@0:<3@@:E N2 'AE:CB Bdde . %l G2e %q+ !74<:FDA:E N2 &@;<FC-O
. %l G2e l%+ a=6JN&&=K2? #E7ADC-:E N2 #E7ADC-:E'/..DO . %l G2e kqO ?N= ?N=
A0 ?=1 >2K"o=a=6J(o=21 JN& ?=J J"no=TKNQm=2 E=NK_=6& N2 =N2 >2K"o=a=6j
I=NQm2N1 fT=62=mJ=2 _-KK=2he 41 N1& ?=J D2&=62=mJ=2 i4 r6=NIi1&=KK=2O ?i6Qm

Q %l

9e >T1e kP 46K(1Qm=2 ?=6 F&=i=6T=r6=Ni2o >2Je k%5kl H 5$ Q1'a

k%

kk

kl



Q %p 1:?74.B+

>ir1&=KK=2 =N2=6 >2r"2o1TNK"2I o=Je . p >T1e %O . q 4F&0 =N2=2 A=Qm1=K ?=6 0=j
_N22=6JN&&Ki2o1"6& a-6Ii2=mJ=2O ?" ?N=1 ?=J @_=QL ?=6 B-61Qm6Nr&O _!m6=2?
?=6 F&36=Nm=N& o=TNK?=&= 1&NKK= G=1=6a=2 1&r6=N Ii m"K&=2O =2&1$6NQm& #=T=21- &7AA
N2 $E9DA ) 17?90O . %l G2e p*O ?=6 N21-r=62 Ii&6=rr=2? a-2 =N2=J [r"L&N1Qm=2
A"mK6=Qm&Y Ii6 >ir1&=KKi2o =N2=6 >2r"2o1TNK"2I 1$6NQm&+ 2:9G N2 $E@:''.?A:E
ddde . %l G2e kkhe DJ =N2 T=KN=TNo=1 ,N2 i2? ,=6 ?=6 0=_N22=6JN&&Ki2o1"6&=2
Ii i2&=6TN2?=2O N1& 2"Qm >21NQm& ?=1 :3, ?"1 D2&=62=mJ=2 "KK=6?N2o1 o6?1e rf6
?6=N AN6&1Qm"r&1M"m6= 5 M=?=2r"KK1 T=N I=N&oK=NQm=6 B=6&=NKi2o ?=1 CT=62"mJ=j
o=_N221 5 "2 ?=2 A=Qm1=K ?=6 0=_N22=6JN&&Ki2o1"6& o=Ti2?=2 #:3, ae /e%%e
kHHH 5 dB G %8'HHO :F&:Ke dd kHH%O %Hk+ Ii1&e !:0:E N2 "7DC- dde . %l G2e k*he
7N=1 =61Qm=N2& a-6 ?=J ,N2&=6o6i2? ?=1 0=T-&1 =N2=6 Ii&6=rr=2?=2 0=_N22=6j
JN&&Ki2o i2&=6 :=6fQL1NQm&Noi2o ?=6 :=K"2o= ?=6 3N2B=6_e 1"Qmo=6=Qm& #aoKe
mN=6Ii 5:(:E+"E:@@:A N2 6'/O . p 4F&0 G2e 7 pHhe

UUP 3>DX'I]7;Z>B 2d]I'>;;d9Z >V9>K 29]`9ZIEV;`9C `d] ?>9 c>V'W
4d9<' ?>I +>ZV99I ?>K 1'>d>K4];VDX'

5P 2d]I'>;;d9Z >V9>K 29]`9ZIEV;`9C

"KI'>;;d9Z >V9>K 29]`9ZIEV;`9CB E6N&& ?N= ^(6$=61Qm"r&O V=61-2=2a=6=N2Noi2o
-?=6 B=6J(o=21J"11= N2 ?N= F&VrKNQm& =N2O m"& 1N= "ir ?=2 @=N&$i2L& ?=1 :=oN221
?=6 F&VrKNQm& =N2= >2r"2o1TNK"2I "irIi1&=KK=2e >iQm mN=6 N1& ?=6 4N2&6N&& N2 ?N= -Tj
M=L&Na= F&VrKNQm& o=J=N2&O ?me ?N= :==2?Noi2o =N2=1 F&:=r6=Ni2o1&"&T=1&"2?1e 41
T=1&=m& =N2= B=6$rKNQm&i2o Ii6 >ir1&=KKi2o ?=6 >2r"2o1TNK"2Ie
U9X`;' ?>K 29]`9ZIEV;`9CB d2m"K&KNQm N1& ?N= "irIi1&=KK=2?= >2r"2o1TNK"2I =N2=
F&:NKeO N2 ?=6 ?N= :=_=6&i2o 1!J&KNQm=6 A0 JN& ?=J E=NK_=6& Ii =6r-Ko=2 m"&e
>iQm ?=6 4N22"mJ=fT=61Qmi116=Qm2=6 o=Je >T1e k N1& T=6=Qm&No&O =N2= >2r"2o1j
TNK"2I "irIi1&=KK=2 #1e >2Je klhe 7N= >2r"2o1TNK"2I N1& i2&=6 @io6i2?=K=oi2o
?=6 1&Ke B-61Qm6Nr&=2O "K1- T=1-2?=61 i2&=6 :="Qm&i2o ?=1 . q 4F&0O "irIi1&=KK=2e
7"1 rfm6& I: ?"IiO ?"11 2"Qm ?=6 G1$6e 1=KT1&o=1Qm"rr=2= NJJ"&=6N=KK= A0O =&_"
=N2 3N6J=2_=6&O N2 ?N= >2r"2o1TNK"2I 2NQm& "irIi2=mJ=2 1N2? #:3, ae /e8ekHHH
5 d G )/')8O :F&:Ke dd kHH%O *%O JN& >2Je5:(:E+"E:@@:AO 3G kHHHO %k8q+ !74+
<:FDA:E N2 &@;<FC-O . %l G2e k/+ "> #E7ADC-:E N2 #E7ADC-:E'/..DO . %l
G2e lkhe 4&_"1 "2?=6=1 oNK& "KK=6?N2o1 T=N 4N2T6N2oi2o a-2 :B #=N21QmKe 3N6J=2j
_=6&h ?i6Qm =N2= 1&T=r6=N&= ^(6$=61Qm"r& N2 =N2= #1&$rKeh ^"$0=1e o=o=2 0=_!mj
6i2o a-2 0=1=KK1Qm"r&16=Qm&=2+ N21-_=N& KN=o& =N2 &"i1Qm!m2KNQm=6 i2? ?"JN& =2&j
o=K&KNQm=6 B-6o"2o a-6e 7=6 NJ =N2o=T6"Qm&=2 D2&=62=mJ=2 =2&m"K&=2= #?-6&
1=KT1&o=1Qm"rr=2=h 3N6J=2_=6& _N6? T=NJ fT=62=mJ=2?=2 G=Qm&1&6!o=6 "2o=j
1Qm"rr& i2? N1& ?"m=6 o=Je . q >T1e k 4F&0 Ii "L&NaN=6=2+ 1- Ii&6=rr=2? :3, ae
qe)ekHHk 5 d G )'H%O :3,'XB kHHlO 88O N2 >To6=2Ii2o Ii :3, ae /e8ekHHH 5 d
G )/'/8O :F&:Ke dd kHH%O *%e 7N= "i11QmKN=nKNQm rf6 1&Ke @_=QL= Ii =61&=KK=2?= :Nj
K"2I ?i6QmT6NQm& rf6 ?N= :=_=6&i2o ?=2 06i2?1"&I ?=6 Z"no=TKNQmL=N& ?=6 ,:NKe
#. q >T1e % i2? ) 4F&0h ?i6Qm ?N= o=1=&IKNQm= 3-6?=6i2o ?=1 >21"&I=1 ?=1 E=NKj
_=6&=1 #. %l >T1e l F"&I %he
A!m6=2? ?N= FQmKi11TNK"2I 2"Qm >T1e % ?"Ii ?N=2&O ?N= 42?T=1&=i=6i2o ?=1 TN1j
m=6 1&$rKe D2&=62=mJ=21 m=6T=NIirfm6=2O N1& =1 @_=QL ?=6 >2r"2o1TNK"2I T=N ?=6
2i2J=m6 1&$rKe ^(6$=61Qm"r&O V=61-2=2a=6=N2Noi2o -?=6 B=6J(o=21J"11=O ?N=
B-6&=NK= ?=6 F&36=Nm=N& r=1&Ii1&=KK=2e 0=_N22=O ?N= _!m6=2? ?=6 :=r6=Ni2o a-2
?=6 ^F&VrKNQm& =2&1&"2?=2 1N2?O TK=NT=2 N2r-Ko= ?=6 :=_=6&i2o JN& ?=J E=NK_=6&
#>T1e lh N2 ?=6 >2r"2o1TNK"2I 1&r6=Ne

Q1'a H 5$ >2Je kl5kp 9e >T1e kP 46K(1Qm=2 ?=6 F&=i=6T=r6=Ni2o

kp



^^3 O]ZP !\! biKN kH%k 1:?74.B+

!P c>V'4d9<' ?>I +>ZV99I ?>K 1'>d>K4];VDX'

42&1$6=Qm=2? >T1e % N1& ?N= >2r"2o1TNK"2I o=Je >T1e k "ir ?=2 @=N&$i2L& ?=1
:=oN221 ?=6 F&VrKNQm& Ii =61&=KK=2e G=o=KJ!nNo N1& ?N= >2r"2o1TNK"2I ?"m=6 "ir
?=2 :=oN22 =N2=1 B@ "irIi1&=KK=2e 7"1 Ii6 FQmKi11TNK"2I N21-_=N& >i1o=rfm6&=
#1e >2Je %ph oNK& mN=6 =2&1$6=Qm=2?e :=N :==2?Noi2o =N2=6 $=61(2KNQm=2 #1iTM=L&Nj
a=2h F&:=r6=Ni2o L"22 ?N= B=6$rKNQm&i2o Ii6 >ir1&=KKi2o =N2=6 FQmKi11TNK"2I
"iQm _!m6=2? =N2=1 AMe TI_e B@ =2&1&=m=2 #1e >2Je %phe

4N21&_=NK=2 r6=Ne

%P "K;Gd'>Kd9Z>9 Cd 2EIP $B
+>F>K'd9Z ?>K #VK'IDX`]'IZb'>K V9 ?>K 29]`9ZIW 7?>K

1DX;dIIEV;`9C :V' .>V;F>K'>9

UP 29I`'C ?>K #VK'IDX`]'IZb'>K >9'I4K>DX>9? ?>9 `;;Z>:>V9>9
I'>d>K;VDX>9 3>Z>;9

X"Qm?=J N2 >T1e % i2? k ?N= B=6$rKNQm&i2o Ii6 >ir1&=KKi2o =N2=6 >2r"2o1j i2?
FQmKi11TNK"2I o=6=o=K& N1&O T=r"11& 1NQm >T1e l F"&I % JN& ?=6 :=_=6&i2o ?=6 N2
?N=1=2 :NK"2I=2 "2Ii1=&I=2?=2 A0 ?=1 :Be 7N=1= 1N2? a-6T=m"K&KNQm ?=1 >T1e p
JN& ?=2 E=NK_=6&=2 "2Ii1=&I=2e 7=6 :=o6Nrr ?=1 A0 N2 >T1e l F"&I % =2&1$6NQm&
?=6 NJ F&G=Qm& "KKoe ofK&No=2 7=rN2N&N-2 #aoKe . q 4F&0 >2Je lqH rrehe >iQm ?N=
36"o= ?=1 >21"&I=1 ?=6 A0 r-Ko& "KKo=J=N2=2 1&Ke G=o=K2e 41 o=K&=2 ?N= =N21QmK!j
oNo=2 1&Ke >L&NaN=6i2o1j i2? V"11NaN=6i2o1o=j i2? ja=6T-&= #. q 4F&0h 1-_N= ?N=
1&Ke >21"&I_"mK6=Qm&=e 7=6 >21"&I =N2=1 1=KT1& o=1Qm"rr=2=2 3N6J=2_=6&1 =6r-Ko&
?"m=6 2NQm& #. q >T1e k 4F&0he Xi6 rf6 ?N= :=_=6&i2o _N6? ?=6 06i2?1"&I ?=6
Z"no=TKNQmL=N& ?=6 ,:NKe rf6 ?N= F&:NKe ?i6QmT6-Qm=2O 2NQm& ?"o=o=2 rf6 ?N= 36"j
o= ?=1 >21"&I=1 ?=6 A0 #:3, ae /e8ekHHH 5 d G )/'/8O :F&:Ke dd kHH%O *%he

UUP +>F>K'd9Z ?>K #VK'IDX`]'IZb'>K V9 ?>K 29]`9ZIW d9? 1DX;dIIW
EV;`9C :V' ?>9 .>V;F>K'>9

.>V;F>K'B X"Qm >T1e l F"&I % 1N2? 5 a-6T=m"K&KNQm ?=6 G=o=Ki2o N2 >T1e p #aoKe
>2Je 8H rreh 5 N2 ?=6 FQmKi11TNK"2I IiJ :=oN22 ?=6 F&:=r6=Ni2o #>T1e %h i2? N2
?=6 >2r"2o1TNK"2I T=N 46K(1Qm=2 ?=6 F&:=r6=Ni2o #>T1e kh ?N= A0 JN& ?=J E=NKj
_=6& "2Ii1=&I=2e d21-_=N& oNK& ?N= 7=rN2N&N-2 ?=1 E=NK_=6&1 o=Je . ) >T1e % X6e %
F"&I l 4F&0e 41 N1& "K1- ?=6 :=&6"o "2Ii1=&I=2O ?=2 =N2 46_=6T=6 ?=1 o"2I=2 :=j
&6N=T1 NJ G"mJ=2 ?=6 @"mKi2o ?=1 o=1"J&=2 ^"ir$6=N1=1 rf6 ?N= =N2I=K2=2 A0
"21=&I=2 _f6?=e 7"T=N N1& ?"a-2 "i1Iio=m=2O ?"11 ?=6 46_=6T=6 ?=2 :=&6N=T
r-6&rfm6& #1e . ) 4F&0 >2Je q*/ rrehe 7=6 >21"&I JN& ?=J E=NK_=6& N1& I_N2o=2?e
46 N1& "iQm ?"22 a-6Ii2=mJ=2O _=22 ?=6 E=NK_=6& ?N= >,^ =N2=1 A0 fT=6j
1&=No&e >T1e l F"&I % 1&=KK& 2!JKNQm JN& ?=6 B=6$rKNQm&i2o IiJ >21"&I ?=1 E=NKj
_=6&1 =N2= ?=2 "KKo=J=N2=2 TNK"2I1&6=Qm&Ke :=_=6&i2o1o6i2?1!&I=2 ?=1 . ) 4F&0
a-6o=m=2?= G=o=Ki2o ?"6 #:E76iQL1e *'%p*HO lp)+ #E7ADC-:E N2 #E7ADC-:E'
/..DO . %l G2e ll+ &7AA N2 $E9DA ) 17?90O . %l G2e qqhe >iQm _N6? ?=6 06i2?j
1"&I ?=6 Z"no=TKNQmL=N& ?=6 ,:NKe o=Je . q >T1e % 4F&0 ?i6QmT6-Qm=2e >ir ?N=

Q %q

7e >T1e lP :=_=6&i2o ?=6 A0 JN& E=NK_=6&=2 >2Je kq5lk H 5$ Q1'a

kq

k)5lH

l%

lk



Q %) 1:?74.B+

a-2 ?=6 G1$6e =2&_NQL=K&=2 E=NK_=6&a=6Ji&i2o=2 #1e . ) 4F&0 >2Je q8)h L"22
i4 Ii6fQLo=o6Nrr=2 _=6?=2e
.>V;F>K'`9I`'C V9 ?>K 1DX;dIIEV;`9CB 7=6 >21"&I ?=1 E=NK_=6&1 N2 ?=6 FQmKi11j
TNK"2I T=N :=oN22 ?=6 F&:=r6=Ni2o rfm6& Ii6 >ir?=QLi2o i2? B=61&=i=6i2o ?=6
"2o=1"JJ=K&=2 1&NKK=2 G=1=6a=2 #aoKe G qp >T1e % F"&I % ^F&Ghe 7=6 >21"&I ?=1
E=NK_=6&1 N2 ?=6 FQmKi11TNK"2I =6r"11& 2NQm& 2i6 ?=2 A=6&Ii_"Qm1 _!m6=2? ?=6
F&VrKNQm&O 1-2?=62 L"22 "iQm N2 1-KQm=2 3!KK=2 Ii6 0=_N22a=6_N6LKNQmi2o rfmj
6=2O N2 ?=2=2 TN1m=6 "iro6i2? o=1=&IKNQm=6 B-61Qm6Nr&=2 N2 ?=6 F&:NKe GfQLK"o=2
o=TNK?=& -?=6 4N22"mJ=2 =6r-Ko12=i&6"K T=m"2?=K& _i6?=2e ,N=6Ii I!mK=2 2=T=2
?=J A=6&Ii_"Qm1 T=N =N2I=K2=2 A0 ?=1 :B "iQm ?N= 1&NKK=2 G=1=6a=2 "i1 ?=6
CT=62"mJ= =N2=6 GfQLK"o= 2"Qm . )T 4F&0O ?=6 B-62"mJ= a-2 F-2?=6j
"T1Qm6=NTi2o=2 2"Qm . *o 4F&0 -?=6 "iro6i2? a-2 @i1Qmf11=2 "i1 (rr=2&KNQm=2
ZN&&=K2O ?N= 1&Ke =6r-Ko12=i&6"K ?i6Qm ^f6Ii2o ?=6 >,^ T=m"2?=K& _i6?=2e
7=6 42&1&6NQLi2o1o=_N22 =6m(m& ?=2 K"ir=2?=2 0=_N22 ?=1 K=&I&=2 AMeO N2 ?=J
?N= F&VrKNQm& T=1&"2?e 46 i2&=6KN=o& ?=J F&F"&I ?=1 . kl >T1e %e
! (DAAD6B+DC7@*3<*.@+</ 7N= X-&_=2?NoL=N& ?=6 >irK(1i2o "KK=6 1&NKK=2 G=1=6a=2
=6oNT& 1NQm "i1 ?=J 0=1=&I=1_-6&K"i& ?=1 >T1e l i2? N1& a-J 0=1=&Io=T=6 o=j
_-KK&e 3f6 :NKKNoL=N&1J"n2"mJ=2 "i1 1"QmKNQm=2 06f2?=2 N1& ?"m=6 NJ >KKo=J=Nj
2=2 _-mK L=N2 G"iJ+ "KK=2r"KK1 L(22=2 :NKKNoL=N&1J"n2"mJ=2 _=o=2 1iTM=L&Na=6
,!6&=2 2"Qm \"o= ?=1 4N2I=Kr"KK1 Ii $6fr=2 1=N2 #3N2ZN2e XGA ae %/e*e%/*8O
F&4^ ^F&0 %/** . %l X6e %+ L--6?e \!2?=6=6KeO 3N2ZN2e ,=11e ae )e%He%/8HO 7:
%/8HO k%)l+ !:0:E N2 "7DC- dde . %l G2e lk+ L6N&e ,@0:<3@@:E N2 'AE:CB Bdde
. %l G2e %8he
! &:+D>+C:*6 <*4. ! 2E '9C%/ 7N= 36=NT=&6"o16=o=Ki2o ?=1 . %) >T1e p 4F&0 rN2?=&
L=N2= >2_=2?i2o #!:0:E N2 "7DC- dde . %l G2e ll+ "> &7AA N2 $E9DA ) 17?90O
. %l G2e q/ i2? ,@0:<3@@:E N2 'AE:CB Bdde . %l G2e klO ?N= =N2= "2"K-o= >2j
_=2?i2o ?=1 . %) >T1e p rf6 o=T-&=2 m"K&=2he
.>V;F>K'`9I`'C V9 ?>K 29]`9ZIEV;`9CB A!m6=2? ?=6 >21"&I ?=1 E=NK_=6&1 N2
?=6 FQmKi11TNK"2I ?N= B=61&=i=6i2o ?=6 1&NKK=2 G=1=6a=2 T=_N6L&O rfm6& ?=6 >2j
1"&I ?=1 E=NK_=6&1 N2 ?=6 >2r"2o1TNK"2I iJo=L=m6& ?"IiO ?"11 ?N= _!m6=2? ?=6
F&36=Nm=N& o=TNK?=&=2 1&NKK=2 G=1=6a=2 2"Qm >T1e l F"&I % a-6T=m"K&KNQm ?=6 G=o=j
Ki2o N2 >T1e p F"&I k #aoKe >2Je /H rreh 1&=i=62=i&6"K "iro=?=QL& i2? ?"JN& =2?j
ofK&No r6=No=1&=KK& _=6?=2 #G qp >T1e k ^F&Ghe
d2 ?=2 3-Ko=M"m6=2 1N2? ?N= :NK"2I"21!&I= ?=6 >2r"2o1TNK"2I r-6&Ii1Qm6=NT=2e
7N= 2"Qm . %l >T1e l F"&I % "2o=1=&I&=2 E=NK_=6&= 1N2? "2 ?N= F&=KK= ?=6 N2 . )
4F&0 a-6o=1Qm6N=T=2=2 >,^ o=&6=&=2e 7N= N2 ?=6 >2r"2o1TNK"2I "i1o=_N=1=2=2
E=NK_=6&= 1N2? ?N= 06i2?K"o= ?=6 >r>j:=J=11i2o #!74<:FDA:E N2 &@;<FC-O
. %l G2e l8he B-2 ?=2 E=NK_=6&=2 1N2? ?N= o=1=&IKNQm IiK!11No=2 >T1Qm6=NTi2o=2
a-6Ii2=mJ=2e

4N21&_=NK=2 r6=Ne

Q1'a H 5$ >2Je lk5*/ 7e >T1e lP :=_=6&i2o ?=6 A0 JN& E=NK_=6&=2

ll5*/



^^3 O]ZP !\! biKN kH%k 1:?74.B+

"P "K;Gd'>Kd9Z>9 Cd 2EIP [B
+dDXF>K'4KV_V;>Z ]bK ?V> 9`DX H \ 2EIP 5 MKP 8 I'>d>KW
E>]K>V'>9 Q6K4>KIDX`]'>9@ J>KI79>9_>K>V9VZd9Z>9

7?>K &>K:6Z>9I:`II>9

UP 3>Z>;d9ZICF>D< d9? 29F>9?d9ZIE>K>VDX

5P 3>Z>;d9ZICF>D< ?>I 2EIP [

>T1e p =2&m!K& =N2= >i12"mJ=6=o=Ki2o Ii ?=6 :=_=6&i2o12-6J ?=1 >T1e le 3f6
o=J=N22f&INo= ^(6$=61Qm"r&=2O V=61-2=2a=6=N2Noi2o=2 i2? B=6J(o=21J"11=2
NFae . q >T1e % X6e / oNK& ?N= B=6$rKNQm&i2o IiJ >21"&I ?=1 E=NK_=6&1 N2 ?=6 >2j
r"2o1j i2? FQmKi11TNK"2I 2NQm&e 7N=1= $6NaNK=oN=6&=2 G=Qm&1&6!o=6 1=&I=2 ?N= A0
N2 ?=6 >2r"2o1j TI_e FQmKi11TNK"2I aN=KJ=m6 JN& ?=2 :iQm_=6&=2 "2e FN22 i2?
@_=QL ?N=1=6 G=o=Ki2o N1& =1O ,!6&=2 Ii a=6J=N?=2 i2? ?=2 @_=QL ?=6 F&:=r6=Nj
i2o 2NQm& Ii T==N2&6!Qm&No=2 #:E76iQL1e *'%p*HO lp)+ 30 ,=11e ae 8elekH%H 5
%% ^ l*)8'HqO 430 kH%HO %kpkO 26L6eO >Ie :3, d G l%'%Hhe 7=1m"KT _N6? N2
?=6 FQmKi11TNK"2I #2i6h "ir ?N= B=61&=i=6i2o ?=1 42&1&6NQLi2o1o=_N221 a=6INQmj
&=&e ZN& ?=6 B=6$rKNQm&i2o IiJ >21"&I ?=6 r-6&o=rfm6&=2 :iQm_=6&= N2 ?=6 >2j
r"2o1TNK"2I _N6? a=6mN2?=6&O ?"11 ?N= ^(6$=61Qm"r&O V=61-2=2a=6=N2Noi2o -?=6
B=6J(o=21J"11= NFae . q >T1e % X6e / 1NQm ?i6Qm i2&=61QmN=?KNQm= :=_=6&i2o1j
J=&m-?=2 #:iQm_=6&"21"&I T=N 4N2&6N&& N2 ?N= F&VrKNQm& o=Je >T1e p F"&I % i2?
1$!&=6=J E=NK_=6&"21"&I T=N A=or"KK ?=6 F&:=r6=Ni2oh i2o=6=Qm&r=6&No&= F&=i=6j
a-6&=NK= a=61Qm"rr&e

!P 29F>9?d9ZIE>K>VDX ?>I 2EIP [

7N= F-2?=66=o=Ki2o ?=1 >T1e p L-66=1$-2?N=6& JN& ?=6 G=o=Ki2o N2 . ) >T1e %
X6e p F"&I p 4F&0 #1e . ) 4F&0 >2Je %kHq rehe ,N=6 _N= ?-6& oNK&O ?"11 ^(6$=6j
1Qm"r&=2O V=61-2=2a=6=N2Noi2o=2 i2? B=6J(o=21J"11=2 JN& 1&T=of21&No&=2
@_=QL=2 NF?e . q% rre >WO ?N= 2NQm& 2"Qm . / >T1e % X6e k 1$=2?=2T=of21&No&
1N2?O i2o="Qm&=& Nm6=6 F&:=r6=Ni2o 2"Qm . q >T1e % X6e / ^F&0 a-2 ?=2 o=2"22j
&=2 F-2?=66=o=Ki2o=2 2NQm& =6r"11& _=6?=2e >iro6i2? ?=6 ?i6Qm ?"1 bF&0 kHH/
#:0:Ke d kHH8O k*/ph =N2o=rfo&=2 X6e k N2 . q >T1e k L(22=2 1NQm "iQm T=1Qm6e
1&$rKe ^(6$=61Qm"r&=2O V=61-2=2a=6=N2Noi2o=2 i2? B=6J(o=21J"11=2 "ir ?N=
F&:=r6=Ni2o 2"Qm . q >T1e % X6e / T=6ir=2O _=22 1N= 2"Qm ?=J G=Qm& =N2=1 4Dj
-?=6 4AGjF&""&=1 o=o6f2?=& _i6?=2O 1N= Nm6=2 FN&I i2? Nm6= 0=1Qm!r&1K=N&i2o N2
?N=1=2 F&""&=2 m"T=2 i2? JN& ?=J F&""& =N2 >J&1mNKr="TL-JJ=2 T=1&=m& ##E7A+
DC-:E N2 #E7ADC-:E'/..DO . %l G2e p*he

4N21&_=NK=2 r6=Ne

Q %*

4e >T1e pP :iQm_=6&$6NaNK=o >2Je 8H58p H 5$ Q1'a

8H

8%

8k58p



Q %8 1:?74.B+

UUP .`'E>I'`9?I_7K`dII>'Cd9Z>9 d9? 3>DX'I]7;Z>9 ?>I 2EIP [

5P +>ZV99 ?>K 1'>d>KE>]K>Vd9Z T2EIP [ 1`'C 5R

`R 1'>d>KE>]K>Vd9Z `d]ZKd9? ?>I H \ 2EIP 5 MKP 8
d2 ?=2 >2_=2?i2o1T=6=NQm a-2 >T1e p F"&I % r"KK=2 ^(6$=61Qm"r&=2O V=61-2=2j
a=6=N2Noi2o=2 i2? B=6J(o=21J"11=2 #Ii6 7=rN2N&N-2 ?N=1=6 :=o6Nrr= aoKe
>2Je %%hO ?N= 2"Qm ?=6 F"&Ii2o -?=6 ?=6 1-21&e B=6r"11i2o i2? 2"Qm ?=6 &"&j
1!QmKNQm=2 0=1Qm!r&1rfm6i2o "i11QmKN=nKNQm i2? i2JN&&=KT"6 o=J=N22f&INo=2O
JNK?&!&No=2 -?=6 LN6QmKNQm=2 @_=QL=2 NF?e .. q%5)8 >W ?N=2=2e 7N=1= G=Qm&1j
&6!o=6 1N2? o=Je . q >T1e % X6e / a-2 ?=6 ^F&e T=r6=N&e F-_=N& 1N= =N2=2 _N6&j
1Qm"r&KNQm=2 0=1Qm!r&1T=&6N=T i2&=6m"K&=2O N1& ?N= F&:=r6=Ni2o $"6&N=KK o=Je . q
>T1e % X6e / F"&I k "i1o=1QmK-11=2 #aoKe Ii 2!m=6=2 4N2I=Km=N&=2 . q
>2Je kkH rrehe X"Qm . )H >T1e k >W i2? . )l >T1e k >W 1=&I& =N2= F&:=r6=Ni2o
2"Qm . q >T1e % X6e / a-6"i1O ?"11 ?N= 1"&Ii2o1J!nNo=2 i2? &"&1!QmKNQm=2 B-j
6"i11=&Ii2o=2 rf6 ?N= F&:=r6=Ni2o rf6 ?=2 o"2I=2 B@ a-6KN=o=2e 7" ?=6 B@ ?"1
^Me N1& #. kq 4F&0hO T=oN22& ?N= F&:=of21&Noi2o 6=o=KJ!nNo "J >2r"2o =N2=1 ^Me
:=N TN1m=6 a-J ^Me "T_=NQm=2?=J AMe N1& =N2 "J l%e 7=I=JT=6 =2?=2?=1
GiJ$rAMe Ii TNK?=2e

ER +>'K7]]>9> #VK'IDX`]'IZb'>K
d2 ?=2 >2_=2?i2o1T=6=NQm ?=6 B-61Qm6Nr& 1N2? 2i6 ?N=M=2No=2 A0 =N2T=I-o=2O
?N= ?=6 3(6?=6i2o 1&T=of21&No&=6 @_=QL= NF?e . / >T1e % X6e k ?N=2=2e 41
L-JJ& "K1- M=_=NK1 ?"6"ir "2O -T JN& ?=2 A0 JNK?&!&No=O LN6QmKNQm=O 6=KNoN(1=O
_N11=21Qm"r&KNQm= -?=6 "K1 T=1-2?=61 r-6?=6i2o1_f6?No "2=6L"22&= o=J=N22f&INj
o= @_=QL= a=6r-Ko& _=6?=2e >2?=61 "K1 N2 r6fm=6=2 0=1=&I=1r"11i2o=2 _N6?
2NQm& J=m6 ?"6"ir "To=1&=KK&O -T ?N= ^(6$=61Qm"r&O B=6J(o=21J"11= -?=6 V=6j
1-2=2a=6=N2Noi2o "i11QmKN=nKNQm i2? i2JN&&=KT"6 1$=2?=2T=of21&No&=2 @_=QL=2
?N=2&e
B=6r-Ko& =N2= ^(6$=61Qm"r& NF?e . q >T1e % X6e / 2=T=2 ?N=1=2 @_=QL=2 "iQm "2j
?=6= o=J=N22f&INo= @_=QL=O 1- L-JJ& >T1e p F"&I % 2i6 rf6 ?N=M=2No=2 A0 N2
:=&6"Qm&O ?N= =N2=J @_=QL NF?e . q >T1e % X6e / ?N=2=2 #!74<:FDA:E N2 &@;+
<FC-O . %l G2e )khe >2?=6= "K1 ?N= a-2 . q >T1e % X6e / =6r"11&=2 o=J=N22f&INo=
@_=QL= 1N2? N2 ?=6 FQmKi11TNK"2I JN& ?=J E=NK_=6& "2Ii1=&I=2 #2:9G N2 $E@:'
'.?A:E ddde . %l G2e l)heA0O ?N= ?=J 1&=i=61Qm!?KNQm=2 _N6&1Qm"r&KNQm=2 0=j
1Qm!r&1T=&6N=T IiIi-6?2=2 1N2?O r"KK=2 =T=2r"KK1 2NQm& N2 ?=2 >2_=2?i2o1j
T=6=NQm ?=1 >T1e p F"&I %O 1-K"2o= 1N= 2"Qm :=oN22 =N2=6 5 ?"22 "KK=6?N2o1 2i6
$"6&N=KK=2 5 F&:=r6=Ni2o ?N=1=J :=6=NQm Iio=-6?2=& TK=NT=2e d2 :=Iio "ir ?N=1=
A0 oNK& =T=21- ?=6 E=NK_=6&j>21"&Ie
0=JN1Qm& o=2i&I&= A0O ?me 1-KQm=O ?N= 2i6 &=NK_=N1= 1&T=of21&No&=2 @_=QL=2
NF?e . q >T1e % X6e / ?N=2=2O 1N2? JN& ?=J >2&=NK JN& ?=J :A "2Ii1=&I=2O ?=6
Lf2r&No ?=6 3(6?=6i2o ?N=1=6 1&T=of21&No&=6 @_=QL= ?N=2=2 _N6? #!74<:FDA:E N2
&@;<FC-O . %l G2e )lhe B=6J(o=21a=6_"K&=2? o=2i&I&= A0 1N2? JN& ?=J :iQmj
_=6& "2Ii1=&I=2O _=22 ?=6=2 46&6!o= Lf2r&No rf6 1&T=r6=N&= @_=QL=2 NF?e . q
>T1e % X6e / =N2o=1=&I& _=6?=2 #:Z3 ae %ekekHHkO :F&:Ke d kHHkO kk%+ !74<:FD+
A:E N2 &@;<FC-O . %l G2e )p+ !:0:E N2 "7DC- dde . %l G2e q)+ &7AA N2 $E9DA )
17?90O . %l G2e %q8+ "> 87DA N2 %8*5O . %l G2e %q/he

Q1'a H 5$ >2Je 8q58) 4e >T1e pP :iQm_=6&$6NaNK=o

8q

8)



^^3 O]ZP !\! biKN kH%k 1:?74.B+

DR 3>DX'I]7;Z>B 29I`'C _79 +dDXF>K'>9 V9 ?>K 1DX;dIIEV;`9C
:=N :=oN22 ?=6 F&:=r6=Ni2o 1N2? ?N= A0 JN& ?=J :A "2Ii1=&I=2e 7N=1 T=?=ij
&=&O ?"11 ?N= TN1m=6No= :NK"2I "K1 FQmKi11TNK"2I oNK&O 1-_=N& ?"1 D2&=62=mJ=2 L=N2
"T_=NQm=2?=1 AMe m"&e 7N= F-2?=66=o=Ki2o ?=1 >T1e p F"&I % !2?=6& "K1- 2NQm&1
"2 ?=6 B=6$rKNQm&i2o ?=6 TN1K"2o 1&$rKe ^(6$=61Qm"r&O =N2= FQmKi11TNK"2I NFae
>T1e % "irIi1&=KK=2 ##E7ADC-:E N2 #E7ADC-:E'/..DO . %l G2e p/he 7"1 =6oNT&
1NQm Ii2!Qm1& "i1 ?=2 G=o=Ki2o=2 N2 .. pO q 4F&0O ?N= =N2= 1-KQm= :NK"2I "K1
I_N2o=2?=2 :=1&"2?&=NK TNK"2IN=KK=6 0=_N22=6JN&&Ki2o r-6?=62e 7"1 =6oNT& 1NQm
r=62=6 "T=6 "iQm "i1 ?=6 o=1=&Io=T=6N1Qm=2 d2&=2&N-2O ?i6Qm ?"1 :iQm_=6&$6NaNj
K=o ?=1 >T1e p K=?NoKNQm ?N= B=61&=i=6i2o ?=6 1&NKK=2 G=1=6a=2 #42&1&6NQLi2o1j
o=_N22h Ii a=6J=N?=2O 2NQm& ?"o=o=2 ?N= 46r"11i2o ?=1 K"ir=2?=2 0=_N221e
>ir ?N= :=1&=i=6i2o ?N=1=1 a-6 ?=6 F&:=r6=Ni2o =2&1&"2?=2=2 0=_N221 _N6?
2NQm& a=6INQm&=&e
2EIP [ Cd 2EIP 5B X=T=2 >T1e p F"&I % i2? ?=J >21"&I ?=1 :A rN2?=& >T1e %
JN& ?=6 B=6$rKNQm&i2o ?=1 E=NK_=6&j>21"&I=1 T=N 1-KQm=2 ^(6$=61Qm"r&=2 >2j
_=2?i2oO ?N= 2=T=2 ?=2 1$=2?=2T=of21&No&=2 @_=QL=2 o=Je . / >T1e % X6e k
"iQm 2-Qm 1-21&No= o=J=N22f&INo= @_=QL= a=6r-Ko=2e ,N=6 TK=NT& =1 mN21NQm&KNQm
?=6 ?N=1=2 1-21&No=2 o=J=N22f&INo=2 @_=QL=2 ?N=2=2?=2 A0 T=N ?=J >21"&I
?=1 E=NK_=6&1 o=Je >T1e % N2 ?=6 FQmKi11TNK"2I T=N 4N2&6N&& N2 ?N= F&:=r6=Ni2oe
a>FV99>K:V'';d9Z 9`DX H [ 2EIP $ "1'aB F-_=N& ?"1 D2&=62=mJ=2 TN1m=6
?=2 0=_N22 2"Qm . p >T1e l 4F&0 ?i6Qm 4N22"mJ=fT=61Qmi116=Qm2i2o =6JN&j
&=K& m"&O N1& "iQm mN=6 =N2= FQmKi11TNK"2I "irIi1&=KK=2 #G qp >T1e % F"&I k ^F&Ghe
41 N1& ?"m=6 =6r-6?=6KNQmO Ii6 0=_N22=6JN&&Ki2o 2"Qm . p >T1e % -?=6 . q 4F&0
fT=6Iio=m=2e 7=6 ?"T=N 1NQm =a=2&i=KK =6o=T=2= CT=6o"2o1o=_N22 N1& E=NK ?=1
K=&I&=2 K"ir=2?=2 0=_N221 i2? i2&=6KN=o& ?=J ^F&E"6Nr ##E7ADC-:E N2 #E7A+
DC-:E'/..DO . %l G2e qk+ &7AA N2 $E9DA ) 17?90O . %l G2e %)khe
1dEIV?VGK>K (X`K`<'>K ?>I H 5$B 7" . %l 2i6 1iT1N?N!6=2 9m"6"L&=6 m"&O L"22
?"1 :iQm_=6&$6NaNK=o 2NQm& T="21$6iQm& _=6?=2O _=22 ?N= FQmKi11T=1&=i=6i2o
_=o=2 B=6!in=6i2o -?=6 >iro"T= =N2=1 :=&6N=T1 2"Qm "KKo=J=N2=2 06i2?1!&I=2
?i6QmIirfm6=2 N1&e :=N :=&6N=T1"iro"T=2 L-JJ& 2"Qm >irr"11i2o ?=6 3N2B=6_e
M=?-Qm ?N= >2_=2?i2o a-2 >T1e p F"&I % N2 :=&6"Qm&O 2!JKNQm T=N CT=6rfm6i2o
=N2=1 :=&6N=T1 -?=6 E=NKT=&6N=T1 N2 ?=2 1&T=r6=N&=2 :=6=NQm =N2=6 ^(6$=61Qm"r&e
d2 ?N=1=2 3!KK=2 N1& ?N= CT=6rfm6i2o ?=6 T=&6-rr=2=2 A0 N2 ?=2 N?==KK=2 :=6=NQm
Ii :iQm_=6&=2 J(oKNQmO "iQm _=22 a-6m=6 ?N= >iro"T= ?=1 _N6&1Qm"r&KNQm=2 0=j
1Qm!r&1T=&6N=T1 =6LK!6& _i6?=e XNQm& "2Ii_=2?=2 N1& >T1e p F"&I % M=?-QmO 1-_=N&
A0 a-6 -?=6 N2 =2o=J I=N&KNQm=2 @i1"JJ=2m"2o 2"Qm ?=6 CT=6rfm6i2o N2 ?=2
N?==KK=2 :=6=NQm a=6!in=6& _=6?=2 #:Z3 ae %ekekHHkO :F&:Ke d kHHkO kk%+ &7AA N2
$E9DA ) 17?90O . %l G2e %)phe

4N21&_=NK=2 r6=Ne

!P "K;6IDX>9 ?>K 1'>d>KE>]K>Vd9Z T2EIP [ 1`'C !R

`R 1'>d>K4];VDX' 9`DX V9'>KV:VI'VIDX>K 1'>d>KE>]K>Vd9Z
d2 ?=2 >2_=2?i2o1T=6=NQm a-2 >T1e p F"&I k r"KK=2 1-KQm= ^(6$=61Qm"r&=2O
V=61-2=2a=6=N2Noi2o=2 -?=6 B=6J(o=21J"11=2O ?=6=2 F&VrKNQm& o=Je . q >T1e %
X6e / r-6&o=r"KK=2 _"6 i2? ?N= M=&I& _N=?=6 1&$rKe _=6?=2e D2o=1Qm6N=T=2= B-j
6"i11=&Ii2o N1&O ?"11 ?N= ^(6$=61Qm"r&O V=61-2=2a=6=N2Noi2o -?=6 B=6J(o=21j
J"11= T=6=N&1 a-6 A=or"KK ?=6 F&VrKNQm& o=Je . q >T1e % X6e / 1&$rKe _"6O ?mO =N2
a-6m=6No=6 A=Qm1=K a-2 ?=6 F&VrKNQm& N2 ?N= F&36=Nm=N& JN& ?=6 3-Ko= =N2=6 :=j

Q %/

dde E"&T=1&"2?1a-6"i11e'G=Qm&1r-Ko=2 >2Je 8*5/H H 5$ Q1'a

8*

8858/

/H



Q kH 1:?74.B+

_=6&i2o ?=6 A0 o=Je >T1e % i2? >T1e p F"&I % JN& ?=J :iQm_=6& 1&"&&r"2? #1-
:E76iQL1e *'%p*HO lp)+ &7AA N2 $E9DA ) 17?90O . %l G2e %))+ #E7ADC-:E N2
#E7ADC-:E'/..DO . %l G2e ql+ "> ,@0:<3@@:E N2 'AE:CB Bdde . %l G2e /he
41 N1& iJ1&6N&&=2O -T 2i6 ?N=M=2No=2 A0 ?=6 G=Qm&1r-Ko= ?=1 >T1e p F"&I k Ii
i2&=6_=6r=2 1N2?O ?N= T=N :=oN22 ?=6 F&:=r6=Ni2o T=6=N&1 a-6m"2?=2 _"6=2O -?=6
"iQm 1-KQm= A0 N2 ?=2 >2_=2?i2o1T=6=NQm a-2 >T1e p F"&I k r"KK=2O ?N= _!mj
6=2? ?=6 F&:=r6=Ni2o "2o=1Qm"rr& _-6?=2 1N2?e X"Qm ?=J A-6&K"i& ?=6 B-6j
1Qm6Nr& 1Qm=N2& =1 oK=NQmofK&No Ii 1=N2O -T ?N= A0 T=N :=oN22 ?=6 F&:=r6=Ni2o T=j
6=N&1 a-6m"2?=2 _"6=2 -?=6 _!m6=2? ?N=1=6 @=N& "2o=1Qm"rr& _i6?=2 #1-
,@0:<3@@:E N2 'AE:CB Bdde . %l G2e kkhe 7N= mZ o=m& i4 M=?-Qm JN& G=Qm& ?"j
a-2 "i1O ?"11 N2 M=?=J 3"KK ?=6 >2r"2o1TNK"2I =N2= FQmKi11TNK"2I NF?e >T1e % a-j
6"i1o=m=2 Ji11e d1& ?"1 2NQm& ?=6 3"KKO oNK& >T1e lO ?meO ?N= A0 1N2? JN& ?=J
E=NK_=6& "2Ii1=&I=2e 7N=1= :=_=6&i2o N1& "iQm ?"22 a-6Ii2=mJ=2O _=22 ?N=
F&:=r6=Ni2o T=6=N&1 a-6 ?=J d2L6"r&&6=&=2 ?=1 . %l T=1&"2?=2 m"& #87DA N2 %8*5O
. %l G2e %)/ rre+ !74<:FDA:E N2 &@;<FC-O . %l G2e ))+ !:0:E N2 "7DC- dde . %l
G2e q8+ 2:9G N2 $E@:''.?A:E ddde . %l G2e p%+ &7AA N2 $E9DA ) 17?90O . %l
G2e %)8 re+ :E76iQL1e *'%p*HO lp)+ G qq >T1e k F"&I l ^F&Ghe 3f6 ?N=1= >i1j
K=oi2o 1$6NQm& i4 FN22 i2? @_=QL ?=1 >T1e p F"&I kP Xi6 mN21NQm&KNQm ?=6 T=N
:=oN22 ?=6 F&:=r6=Ni2o a-6m"2?=2=2 A0 Ji11 1NQm=6o=1&=KK& _=6?=2O ?"11 =1
?i6Qm oK=NQm"6&No= :=_=6&i2o T=N 46K(1Qm=2 ?=6 F&:=r6=Ni2o 2NQm& Ii i2o=6=Qm&j
r=6&No&=2 B-6&=NK=2 L-JJ&e 7=6 ?N= ^(6$=61Qm"r& T=of21&No=2?= E=NK_=6&"21"&I
o=Je >T1e l F"&I % NBJe F"&I k N1& ?"m=6 "iQm N2 1-KQm=2 3!KK=2 "2Ii_=2?=2O N2
?=2=2 ?"1 N2 ?N= F&VrKNQm& =N2&6=&=2?= D2&=62=mJ=2 a-6m=6 i2i2&=6T6-Qm=2
a-2 ?=6 F&VrKNQm& T=r6=N& _"6O "K1- 2N= =N2= A=Qm1=K a-2 ?=6 F&VrKNQm& Ii6 F&:=j
r6=Ni2o o=Je >T1e % NBJe >T1e p F"&I % 1&"&&o=ri2?=2 m"&e >iQm mN=6 T=?"6r =1
2"Qm FN22 i2? @_=QL ?=6 >2_=2?i2o ?=6 =N21Qm6!2L=2?=2 G=o=Ki2o ?=1
>T1e p F"&I k 2NQm&e

ER 3>DX'I]7;Z>
2d]I'>;;>9 >V9>K 29]`9ZIEV;`9CB >2"K-o Ii >T1e k m"& ?N= ^(6$=61Qm"r&O V=6j
1-2=2a=6=N2Noi2o -?=6 B=6J(o=21J"11= o=Je >T1e p F"&I k =N2= >2r"2o1TNK"2I
"irIi1&=KK=2O 1-T"K? ?N= F&:=r6=Ni2o =6KN1Qm&e 7N=1 L"22 Ii =N2=J 6=oiK!6=2 :Nj
K"2I1&NQm&"o -?=6 i2&=6M!m6No =6r-Ko=2e
29I`'C ?>K ]7K'Z>]bXK'>9 +dDXF>K'>B dJ D2&=61QmN=? Ii >T1e k 1N2? ?N= A0
o=Je >T1e p F"&I k N2 ?=6 >2r"2o1TNK"2I 2NQm& JN& E=NK_=6&=2O 1-2?=62 JN& ?=J
A=6& "2Ii1=&I=2O ?=6 1NQm T=N i2i2&=6T6-Qm=2=6 F&VrKNQm& 2"Qm ?=2 B-61Qm6Nr&=2
fT=6 ?N= 1&Ke 0=_N22=6JN&&Ki2o =6o=T=2 _f6?=e >2Ii1=&I=2 1N2? ?"2"Qm ?N= r-6&j
o=rfm6&=2 :iQm_=6&= #87DA N2 %8*5O . %l G2e %)8+ !74<:FDA:E N2 &@;<FC-O
. %l G2e )) rehe
X"Qm ?=J Ii >2Je /H >i1o=rfm6&=2 =6o=T=2 1NQm ?"m=6 r-Ko=2?= :=_=6&i2o1j
J(oKNQmL=N&=2O _=22 T=N =N2=6 2"Qm . q >T1e % X6e / T=r6=N&=2 ^(6$=61Qm"r&O
V=61-2=2a=6=N2Noi2o -?=6 B=6J(o=21J"11= ?N= F&:=r6=Ni2o =6KN1Qm&P
5 ?"1 D2&=62=mJ=2 _"6 a-2 :=oN22 1=N2=6 1iTMe F&VrKNQm& TN1 IiJ 3-6&r"KK ?=6

F&:=r6=Ni2o i2i2&=6T6-Qm=2 a-2 ?=6 ^F&e T=r6=N&P ?N= :=_=6&i2o "KK=6 A0 =6j
r-Ko& JN& ?=J E=NK_=6&+

5 ?"1 D2&=62=mJ=2 _"6 a-6 ?=J :=oN22 ?=6 F&:=r6=Ni2o T=6=N&1 -TMe L1&$rKeP
5 5 d2 ?=6 2"Qm >T1e % =61&=KK&=2 FQmKi11TNK"2I _i6?=2 ?N= A0 JN& ?=J

:iQm_=6& T=_=6&=&P 7N= :=_=6&i2o ?N=1=6 A0 =6r-Ko& JN& ?=J :iQmj
_=6&e

Q1'a H 5$ >2Je /H5/% 4e >T1e pP :iQm_=6&$6NaNK=o

/%



^^3 O]ZP !\! biKN kH%k 1:?74.B+

5 5 7N= A0 _i6?=2 2"Qm 461&=KKi2o ?=6 FQmKi11TNK"2I o=Je >T1e % _!mj
6=2? ?=6 @=N& ?=6 F&:=r6=Ni2o "2o=1Qm"rr& -?=6 m=6o=1&=KK&P 7N= :=_=6j
&i2o ?N=1=6 A0 =6r-Ko& JN& ?=J E=NK_=6&e

4N21&_=NK=2 r6=Ne

eP "K;Gd'>Kd9Z>9 Cd 2EIP \B
+>ZV99 7?>K "K;6IDX>9 >V9>K '>V;F>VI>9 1'>d>KW

E>]K>Vd9Z

UP .`'E>I'`9? d9? 3>DX'I]7;Z> Z>:P 2EIP \

>T1e q K=o& ?N= >2_=2?i2o ?=6 >T1e %5p rf6 ?=2 3"KK ?=1 :=oN221 -?=6 ?=1 46K(j
1Qm=21 =N2=6 &=NK_=N1=2 F&:=r6=Ni2o rf6 ?N= =2&1$6=Qm=2?=2 E=NK= ?=1 :B r=1&e
3f6 ?N= $"6&N=KK= F&:=r6=Ni2o o=K&=2 ?N= oK=NQm=2 06i2?1!&I= _N= rf6 ?=2 :=oN22
-?=6 ?"1 46K(1Qm=2 =N2=6 o=1"J&=2 F&:=r6=Ni2o ?=6 ^(6$=61Qm"r&=2O V=61-2=2j
a=6=N2Noi2o=2 -?=6 B=6J(o=21J"11=2e
+>ZV99 ?>K 4`K'V>;;>9 1'>d>KE>]K>Vd9ZB dJ 3"KK ?=1 :=oN221 ?=6 $"6&N=KK=2
F&:=r6=Ni2o N1& rf6 ?=2 @=N&$i2L& ?=6 :==2?Noi2o ?=6 F&VrKNQm& rf6 ?=2 E=NK ?=1
:BO ?=6 TN1m=6 1&$rKe _"6O =N2= FQmKi11TNK"2I o=Je >T1e q NBJe >T1e % Ii =61&=Kj
K=2e 7=6 &=NK_=N1= :=oN22 =N2=6 F&:=r6=Ni2o N1& N2 ?6=N B"6N"2&=2 ?=2LT"6P
5 A=Qm1=K a-2 a-KK=6 F&VrKNQm& Ii 2i6 2-Qm $"6&N=KK=6 F&VrKNQm&O
5 B=66N2o=6i2o ?=6 $"6&N=KK=2 F&VrKNQm&O
5 A=Qm1=K a-2 $"6&N=KK=6 F&VrKNQm& Ii a-KK=6 F&:=r6=Ni2oe
"K;6IDX>9 ?>K 4`K'V>;;>9 1'>d>KE>]K>Vd9ZB dJ 3"KK ?=1 46K(1Qm=21 ?=6 $"6&N=Kj
K=2 F&:=r6=Ni2o N1& rf6 ?=2 E=NK ?=1 :BO rf6 ?=2 ?N= F&VrKNQm& T=oN22&O =N2= >2j
r"2o1TNK"2I "irIi1&=KK=2 #>T1e q NBJe >T1e %he 7"1 &=NK_=N1= 46K(1Qm=2 ?=6 F&:=j
r6=Ni2o N1& =T=2r"KK1 N2 ?6=N B"6N"2&=2 ?=2LT"6P
5 A=Qm1=K a-2 a-KK=6 F&:=r6=Ni2o Ii $"6&N=KK=6 F&VrKNQm&O
5 46_=N&=6i2o ?=6 $"6&N=KK=2 F&VrKNQm&O
5 A=Qm1=K a-2 $"6&N=KK=6 F&VrKNQm& Ii a-KK=6 F&VrKNQm&
a>:>V9I`:> .`'E>I'`9?I_7K`dII>'Cd9Z>9 d9? 3>DX'I]7;Z>9 ]bK ?>9 +>W
ZV99 7?>K ?`I "K;6IDX>9 >V9>K 1'>d>KE>]K>Vd9ZB >T1e q NBJe >T1e % i2? k
1=&I& =T=21- _N= T=N a-KK1&!2?No=J :=oN22 -?=6 46K(1Qm=2 ?=6 F&:=r6=Ni2o ?N=
4]N1&=2I a-2 0=_N22=N2Lf2r&=2 1-_N= =N2= TNK"2IN=KK= 0=_N22=6JN&&Ki2o a-6"i1
#1e >2Je %l i2? klhe B-6"i11=&Ii2o rf6 ?N= >2_=2?i2o a-2 >T1e q N1& =N2= B=6j
!2?=6i2o N2 ?=6 $"6&N=KK=2 F&VrKNQm&O ?N= Ii =N2=6 CT=6rfm6i2o a-2 1&=i=6a=6m"rj
&=&=2 A0 N2 ?=2 1&r6=N=2 :=6=NQm -?=6 iJo=L=m6& a-2 A0 N2 ?N= F&=i=6a=6m"rj
&i2o rfm6&e XNQm& "i16=NQm=2? N1& =N2= 36=N1&=KKi2o ?i6Qm d2"21$6iQm2"mJ= a-2
36=NT=&6!o=2 #I: .. kpO kqhO _=22 1NQm NJ CT6No=2 "2 ?=6 1"QmKNQm=2 F&VrKNQm&
2NQm&1 !2?=6&e F-K"2o= ?N= B=6!2?=6i2o ?=6 $"6&N=KK 1&$rKe 4N2Lf2r&= 2NQm& Ii =Nj
2=6 B=6!2?=6i2o ?=1 DJr"2o1 ?=1 1&=i=6a=6m"r&=&=2 :B rfm6&O N1& >T1e q 2NQm&
"2Ii_=2?=2e 7=22 =1 T=?"6r ?"22 L=N2=6 42&1&6NQLi2o -?=6 B=61&6NQLi2o a-2
A0 #!:0:E N2 "7DC- dde . %l G2e )k+ &7AA N2 $E9DA ) 17?90O . %l G2e %*)he
A=o=2 ?=6 :=_=6&i2o oNK& rf6 ?N= $"6&N=KK=2 >T1$"K&i2o=2 >T1e lO rf6 T=1&NJJ&=
o=J=N22f&INo= ^(6$=61Qm"r&=2O V=61-2=2a=6=N2Noi2o=2 i2? B=6J(o=21J"11=2
NFae . q >T1e % X6e / oNK& >T1e pe

Q k%

3e >T1e qP E=NK_=N1= F&:=r6=Ni2o >2Je /%5/q H 5$ Q1'a

/k5/p

/q



Q kk 1:?74.B+

V6"L&N1Qm= :=?=i&i2o m"& ?N= G=o=Ki2o N21T=1e
5 T=N ?=6 $"6&N=KK=2 F&VrKNQm& =N2=6 V=21N-21jO F&=6T=jO ^6"2L=2j -?=6 D2&=61&f&j

Ii2o1L"11= o=Je . ) N2r-Ko= CT=6?-&"&N-2 #. q >T1e % X6e l NBJe . )hO
5 T=N ?=6 $"6&N=KK=2 F&VrKNQm& JN& _N6&1Qm"r&KNQm=2 0=1Qm!r&1T=&6N=T=2 ?i6Qm =N2=

NJ CT6No=2 1&T=r6=N&= ^(6$=61Qm"r& #. q >T1e % X6e qO *O /O %)O %/ i2? kkhO
5 T=N ?=6 $"6&N=KK=2 F&VrKNQm& JN& "2?=6=2 E!&NoL=N&=2 "in=6m"KT ?=1 1&T=of21&Noj

&=2 :=6=NQm1 #. q >T1e % X6e %HO %k i2? %phe

UUP 29F>9?d9ZIE>VI4V>;> V: "V9C>;9>9

5P J`K'V>;;> 1'>d>K4];VDX' E>V )E>K?7'`'V79

V=21N-21jO F&=6T=jO ^6"2L=2j -?=6 D2&=61&f&Ii2o1L"11=2 i2&=6KN=o=2 ?=6 ^F&eO
_=22 Nm6 B=6J(o=2 "J FQmKi11 ?=1 AMeO Ii ?=J ?=6 A=6& ?=6 7=QLi2o16fQLj
1&=KKi2o a=61NQm=6i2o1J"&m=J"&N1Qm Ii T=6=Qm2=2 N1&O ?N= ,(Qm1&o6=2I= 2"Qm
. q >T1e % X6e l? fT=61&=No&e 7N=1= ^"11=2 1N2? 2"Qm . ) >T1e % ,"KT1e k M=?-Qm
2i6 JN& ?=J E=NK Nm6=1 4N2L-JJ=21 L1&$rKeO ?=6 fT=6 ?=6 ,(Qm1&o6=2I= KN=o&
#$"6&N=KK= F&VrKNQm&he
:=N ?=6 V6fri2oO -T =N2= CT=6?-&N=6i2o ?=6 V=21N-21jO F&=6T=jO ^6"2L=2j -?=6
D2&=61&f&Ii2o1L"11= a-6KN=o&O N1& ?"1 &"&1!QmKNQm a-6m"2?=2= B=6J(o=2 ?=J Iij
K!11No=2 B=6J(o=2 o=o=2fT=6Ii1&=KK=2 #Ii 4N2I=Km=N&=2 aoKe . ) >2Je %H rrehe
7"JN& =61&6=QL& 1NQm ?N= $"6&N=KK= F&VrKNQm& ?N=1=6 fT=6?-&N=6&=2 ^(6$=61Qm"r& "ir
=N2=2 2"Qm ?=J >2&=NK ?=6 CT=6?-&N=6i2o T=1&NJJ&=2 4N2L-JJ=21j TI_e B=6j
J(o=21&=NKO 2NQm& ?"o=o=2 "ir =N2=2 "To6=2IT"6=2 E=NK ?=1 0=1"J&a=6J(o=21e
7=J fT=6?-&N=6&=2 E=NK K"11=2 1NQm =N2I=K2= A0 2NQm& Ii-6?2=2O 1- ?"11 =1
"iQm 2NQm& J(oKNQm N1&O =N2= "ir ?=2 fT=6?-&N=6&=2 E=NK T=1Qm6!2L&= >2r"2o1j
-?=6 FQmKi11TNK"2I Ii =61&=KK=2e >T1e q o=m& JN& ?=6 3-6JiKN=6i2oO ?"11 ?N=
>T1e %5p rf6 ?=2 =2&1$6=Qm=2?=2 E=NK ?=1 :B o=K&=2O "T=6 a-2 ?=6 Z(oKNQmL=N&
?=6 @i-6?2i2o ?=6 A0 IiJ 1&$rKe -?=6 1&r6=N=2 :=6=NQm "i1 #1e >2Je /phO 1-
?"11 ?N= B-61Qm6Nr& mN=6 a-J A-6&K"i& m=6 2NQm& i2JN&&=KT"6 "2Ii_=2?=2 N1&e
0K=NQm_-mK =6r-6?=6& ?=6 FN22 ?=6 G=o=Ki2oO "iQm T=N =N2=6 V=21N-21jO F&=6T=jO
^6"2L=2j -?=6 D2&=61&f&Ii2o1L"11= ?N= FQmKi11T=1&=i=6i2o ?=6 1&NKK=2 G=1=6a=2
T=N &=NK_=N1=J :=oN22 ?=6 F&:=r6=Ni2o -?=6 ?=6=2 36=N1&=KKi2o T=N &=NK_=N1=J 46j
K(1Qm=2 ?=6 F&:=r6=Ni2o a-6Ii2=mJ=2O 1-_=N& ?N=1= "ir ?=2 1&$rKe :=6=NQm =2&r"Kj
K=2e 7N= 4N2I=Km=N&=2 1N2? 1&6e #aoKe !:0:E N2 "7DC- dde . %l G2e )p+ #E7ADC-:E
N2 #E7ADC-:E'/..DO ^F&0O . %l G2e q*+ &7AA N2 $E9DA ) 17?90O . %l
G2e %8l5%8q =N2=61=N&1 i2? !74<:FDA:E N2 &@;<FC-O . %l G2e *l+ 87DA N2 %8*5O
. %l G2e kH8 "2?=6=61=N&1he
.>V;F>VI>K +>ZV99 ?>K 1'>d>KE>]K>Vd9Z V9]7;Z> )E>K?7'V>Kd9ZB :=N A=or"KK
?=6 $"6&N=KK=2 F&VrKNQm& o=1QmN=m& ?N=1 N2 ?=6 A=N1=O ?"11 fT=6 ?=2 A-6&K"i& ?=1
>T1e q mN2"i1o=m=2? N2 ?=6 "irIi1&=KK=2?=2 FQmKi11TNK"2I 1!J&KNQm= A0 2"Qm
>T1e q NBJe >T1e l JN& ?=2 E=NK_=6&=2 "2Ii1=&I=2 1N2?e X"Qm?=J ?"1 o=1"J&=
:B Ii E=NK_=6&=2 "2o=1=&I& _i6?=O N1& ?=6 1NQm =6o=T=2?= FQmKi11o=_N22 ?=6 Iij
Lf2r&No 1&T=r6=N&=2 ^"11= N2 =N2=J I_=N&=2 FQm6N&& =2&1$6=Qm=2? ?=6 TN1m=6No=2
Ui-&= ?=6 F&VrKNQm& N2 =N2=2 1&$rKe i2? N2 =N2=2 1&r6=N=2 E=NK "irIi&=NK=2 #=T=21-
!:0:E N2 "7DC- dde . %l G2e )p+ #E7ADC-:E N2 #E7ADC-:E'/..DO . %l G2e q*+
&7AA N2 $E9DA ) 17?90O . %l G2e %8l+ "> !74<:FDA:E N2 &@;<FC-O . %l G2e *l+
87DA N2 %8*5O . %l G2e kH8he

Q1'a H 5$ >2Je /q5/) 3e >T1e qP E=NK_=N1= F&:=r6=Ni2o

/)



^^3 O]ZP !\! biKN kH%k 1:?74.B+

:=NJ A=Qm1=K a-2 ?=6 a-KK=2 F&VrKNQm& Ii6 $"6&N=KK=2 F&VrKNQm& N1& =2&1$6=Qm=2?
a-6Iio=m=2e
:=N =N2=6 G=?iIN=6i2o ?=6 CT=6?-&N=6i2o a=6JN2?=6& 1NQm ?=6 >2&=NK ?=1 1&=i=6j
a=6m"r&=&=2 :Be >iQm mN=6 &6N&& =N2= &=NK_=N1= F&:=r6=Ni2o =N2O 1- ?"11 o=Je
>T1e q NBJe >T1e % =N2= FQmKi11T=1&=i=6i2o rf6 ?=2 =N2o=1Qm6!2L&=2 E=NK Ii =6j
r-Ko=2 m"&e >iQm mN=6 _N6? "ir 06i2?K"o= ?=6 E=NK_=6&= =N2 FQmKi11o=_N22 =6JN&j
&=K&e d2 ,(m= ?=1 V6-I=2&1"&I=1O ?=6 ?=6 B=66N2o=6i2o ?=6 Ui-&= ?=6 $"6&N=KK=2
F&VrKNQm& =2&1$6NQm&O =2&1&=m& =N2 ?=6 ^F&e Ii i2&=6_=6r=2?=6 42&1&6NQLi2o1j
o=_N22e
.>V;F>VI>I "K;6IDX>9 ?>K 1'>d>KE>]K>Vd9Z V9]7;Z> )E>K?7'V>Kd9ZB 7"1 &=NKj
_=N1= 46K(1Qm=2 ?=6 F&:=r6=Ni2o T=N =N2=6 V=21N-21jO F&=6T=jO ^6"2L=2j -?=6
D2&=61&f&Ii2o1L"11= L"22 r-Ko=2?= D61"Qm=2 m"T=2P 461&J"KNo= CT=6?-&N=6i2oO
46m(mi2o ?=6 CT=6?-&N=6i2o 1-_N= A=Qm1=K =N2=6 fT=6?-&N=6&=2 ^"11= Ii6 a-Kj
K=2 F&VrKNQm&e
! ':7C@*AD6+ 0>+:,8CD+:?<6/ AN6? ?N= $"6&N=KK= F&VrKNQm& =N2=6 ^"11= ?i6Qm =61&J"KNj
o= CT=6?-&N=6i2o a=6i61"Qm&O Ji11 o=Je >T1e q NBJe >T1e k =N2= 36=N1&=KKi2o
?=6 ?=J IiLf2r&No=2 1&$rKe :=6=NQm IiIi-6?2=2?=2 1&NKK=2 G=1=6a=2 a-6o=2-Jj
J=2 _=6?=2e 7=6 0=1"J&o=_N22 N1& ?"m=6 "irIi&=NK=2O i2? I_"6 2"Qm ?=6 Ui-&=
?=6 CT=6?-&N=6i2o "2&=NKNo NJ 1&r6=N=2 i2? NJ 1&$rKe :=6=NQme 0=_N22JN2?=6i2j
o=2O ?N= ?i6Qm ?=2 >21"&I ?=1 E=NK_=6&1 T=?N2o& 1N2? #I: >r>hO -?=6 2N=?6No=6=
B=6!in=6i2o1=6o=T2N11= "iro6i2? ?=1 E=NK_=6&"21"&I=1 _=6?=2 ?i6Qm ?N= >irj
&=NKi2o 2"Qm Ui-&= 1$!&=6 L-66NoN=6&e 7N= "iro=?=QL&=2 1&NKK=2 G=1=6a=2 _=6?=2
2i6 IiJ E=NK r6=No=1&=KK&e
! $5.+:+: %:*, ,+: 0>+:,8CD+:?<6 8,+: -+4.7+A F?: #8AA+< 9C+?+:G=AD4.C/ >iQm _=22 ?N=
$"6&N=KK= F&VrKNQm& ?=6 ^"11= ?i6Qm =N2=2 m(m=6=2 06"? ?=6 CT=6?-&N=6i2o -?=6
=N2=2 A=Qm1=K Ii6 a-KK=2 F&VrKNQm& "i1o=?=m2& _N6?O =6r-6?=6& >T1e q NBJe
>T1e k =N2= 36=N1&=KKi2o ?=6 1&NKK=2 G=1=6a=2 NJ DJr"2o ?=6 o=1&N=o=2=2
F&VrKNQm&e
41 Ji11 1NQm=6o=1&=KK& _=6?=2O ?"11 ?N= "2o=1"JJ=K&=2 1&NKK=2 G=1=6a=2 N2 @ij
Li2r& 2NQm& m(m=6 T=1&=i=6& _=6?=2e 7N= 1&NKK=2 G=1=6a=2 Jf11=2 ?"m=6 NJ B=6j
m!K&2N1 ?=6 >i1?=m2i2o ?=6 F&VrKNQm& IiJ 2=i=2 DJr"2o ?=6 F&VrKNQm& "irj
o=?=QL& _=6?=2e 7=6 ?"T=N "2r"KK=2?= :iQmo=_N22 T=&6Nrr& "i11QmKN=nKNQm ?=2
1&r6=N=2 :=6=NQm i2? ?"6r 2NQm& T=1&=i=6& _=6?=2e

!P J`K'V>;;> 1'>d>K4];VDX' E>V FVK'IDX`]';VDX>: a>IDXG]'IE>'KV>E

:=N =N2=6 G=Nm= a-2 F&:=r6=Ni2o=2 _N6? ?N= F&:=r6=Ni2o a=61"o&O _=22 ?N= ^(6j
$=61Qm"r&O V=61-2=2a=6=N2Noi2o -?=6 B=6J(o=21J"11= =N2=2 _N6&1Qm"r&KNQm=2
0=1Qm!r&1T=&6N=T o=Je . %p >W i2&=6m!K&e 4N2=2 1-KQm=2 >i11QmKi11 1=m=2 ?N=
:=r6=Ni2o1&"&T=1&!2?= rf6 :=6ir1a=6T!2?= #. q >T1e % X6e q F"&I khO $-KN&N1Qm=
V"6&=N=2 #. q >T1e % X6e / F"&I khO 42&1Qm!?Noi2o1j i2? FNQm=6i2o1=N26NQm&i2o=2
#. q >T1e % X6e %) F"&I phO 0=1"J&m"r=2T=&6N=T= #. q >T1e % X6e %/ F"&I lh 1-_N=
o=J=N21"J= 4N26NQm&i2o=2 ?=6 E"6Nra=6&6"o1$"6&=N=2 #. q >T1e % X6e kk F"&I kh
a-6e
.>V;F>VI>K +>ZV99 >V9>K 1'>d>KE>]K>Vd9Z E>V FVK'IDX`]';VDX>: a>IDXG]'IW
E>'KV>EB 7=6 &=NK_=N1= :=oN22 =N2=6 F&:=r6=Ni2o L-JJ& N2 r-Ko=2?=2 3!KK=2 N2
:=&6"Qm&P

Q kl

dde >2_=2?i2o1T=N1$N=K= NJ 4N2I=K2=2 >2Je /)5/* H 5$ Q1'a

/*



Q kp 1:?74.B+

5 Ui"KNrNL"&N-2 =N2=1 TN1m=6 1&=i=61Qm!?KNQm=2 _N6&1Qm"r&KNQm=2 0=1Qm!r&1j
T=&6N=T1 "K1 r-6&"2 1&=i=6i21Qm!?KNQm=2 @_=QLT=&6N=T #Ii6 7=rN2N&N-2 aoKe
. )q >WhO

5 >iro"T= =N2=1 _N6&1Qm"r&KNQm=2 0=1Qm!r&1T=&6N=T1 -?=6
5 4N2&6N&& N2 ?N= F&:=r6=Ni2o JN& T=6=N&1 T=1&=m=2?=J _N6&1Qm"r&KNQm=2 0=j

1Qm!r&1T=&6N=Te
OVNdV?`'V79 7?>K &>KGdY>Kd9Z ?>I FVK'IDX`]';VDX>9 a>IDXG]'IE>'KV>EIB 4&j
_"1 "2?=6=1 m"& M=?-Qm Ii o=K&=2O _=22 ?=6 _N6&1Qm"r&KNQm= 0=1Qm!r&1T=&6N=T KNj
`iN?N=6& -?=6 a=6!in=6& _N6?e d2 ?N=1=J 3"KK o=m=2 ?N= "KKo=J=N2=2 B-61Qm6Nr&=2
?=1 . %) >T1e % i2? l 4F&0 Ii6 :=&6N=T1a=6!in=6i2o i2? j"iro"T= ?=J . %l
>T1e q a-6e 7"1 m=Nn&O ?"11 N2 ?=6 FQmKi11TNK"2I NJ 3"KK ?=6 B=6!in=6i2o ?=6
B=6!in=6i2o1$6=N1 i2? NJ 3"KK ?=6 \N`iN?"&N-2 ?N= o=J=N2=2 A=6&= "2Ii1=&I=2
1N2?e 7=6 36=NT=&6"o o=Je . %) >T1e p 4F&0 N1& 2NQm& Ii o=_!m6=2 #aoKe
>2Je %lhe . %l N1& 2NQm& "2Ii_=2?=2e 41 L-JJ& ?"m=6 "iQm =N2= :iQm_=6&r-6&j
rfm6i2o 2"Qm >T1e p F"&I % NBJe >T1e q 2NQm& N2 :=&6"Qm&e 7N= CT=6rfm6i2o =Nj
2=1 :=&6N=T1 -?=6 E=NKT=&6N=T1 "i1 ?=J 1&$rKe N2 ?=2 1&T=r6=N&=2 :=6=NQm =N2=6
^(6$=61Qm"r& N1& M=?-Qm NJ G"mJ=2 ?=6 >iro"T= ?=1 _N6&1Qm"r&KNQm=2 0=1Qm!r&1j
T=&6N=T1 i2&=6 >21"&I ?=6 :iQm_=6&= J(oKNQme
+>'KV>EI_>K4`DX'd9ZB dJ 3"KK ?=6 B=6$"Qm&i2o ?=1 _N6&1Qm"r&KNQm=2 0=j
1Qm!r&1T=&6N=T1 1N2? ?N= rf6 ?N= :=&6N=T1a=6$"Qm&i2o NJ 0"2I=2 o=K&=2?=2
06i2?1!&I= "2Ii_=2?=2 #1e >2Je %khe 7N= ^(6$=61Qm"r& L"22 =6LK!6=2O -T 1N=
?=2 _N6&1Qm"r&KNQm=2 0=1Qm!r&1T=&6N=T "iroNT& -?=6 2NQm&e :=N >iro"T= ?=1 _N6&j
1Qm"r&KNQm=2 0=1Qm!r&1T=&6N=T1 N1& ?=6 >iro"T=o=_N22 2"Qm . %) >T1e l 4F&0 Ii
=6JN&&=K2 i2? Ii a=61&=i=62e 46LK!6& ?N= ^(6$=61Qm"r& ?"o=o=2O ?"11 1N= ?=2 :=j
&6N=T JN& ?=6 B=6$"Qm&i2o 2NQm& "iro=T=2 _NKKO -?=6 oNT& 1N= L=N2= 46LK!6i2o "TO
1- oNK& ?=6 _N6&1Qm"r&KNQm= 0=1Qm!r&1T=&6N=T "K1 r-6&T=1&=m=2?e
,9'>KIDXK>V'>9 ?>K +>I'>d>Kd9ZIZK>9C> ?>I H -[ 2EIP $ 2LB 7"1 TK-n= D2j
&=61Qm6=N&=2 ?=6 :=1&=i=6i2o1o6=2I= o=Je . )p >T1e l >W a-2 lqHHH ! ?i6Qm
=N2= ^(6$=61Qm"r&O V=61-2=2a=6=N2Noi2o -?=6 B=6J(o=21J"11= NF?e . q >T1e %
X6e / !2?=6& "J 9m"6"L&=6 ?=1 B-6KN=o=21 =N2=1 _N6&1Qm"r&KNQm=2 0=1Qm!r&1j
T=&6N=T1 2NQm&1e 7=1m"KT TK=NT& ?"1 ?=J _N6&1Qm"r&KNQm=2 0=1Qm!r&1T=&6N=T ?N=j
2=2?= :B _=N&=6mN2 1&=i=6a=6m"r&=&O -m2= ?"11 =N2= FQmKi11T=1&=i=6i2o 2"Qm
>T1e q ?i6QmIirfm6=2 N1&e
.>V;F>VI>I "K;6IDX>9 >V9>K 1'>d>KE>]K>Vd9Z E>V FVK'IDX`]';VDX>: a>W
IDXG]'IE>'KV>EB F-_=N& ?N= ^(6$=61Qm"r&O V=61-2=2a=6=N2Noi2o -?=6 B=6j
J(o=21J"11= =N2=2 _N6&1Qm"r&KNQm=2 0=1Qm!r&1T=&6N=T i2&=6m!K&O N1& 1N= N2 ?=2
o=1=&IKNQm=2 3!KK=2 2NQm& 1&T=r6=N&e 4N2 ?"6fT=6 mN2"i1o=m=2?=1 _=N&=6=1 $"6&N=Kj
K=1 46K(1Qm=2 ?=6 F&:=r6=Ni2o L"22 "ir ?=J B=6Ki1& ?=6 B-6"i11=&Ii2o=2 =N2=1
i21Qm!?KNQm=2 @_=QLT=&6N=T1O ?=6 :=o6e =N2=1 _N6&1Qm"r&KNQm=2 0=1Qm!r&1j
T=&6N=T1 -?=6 ?=J A=or"KK ?=6 F&:=r6=Ni2o T=N =N2=6 JN& ?=J _N6&1Qm"r&KNQm=2
0=1Qm!r&1T=&6N=T K=?NoKNQm $"6&N=KK 1&$rKe ^(6$=61Qm"r& T=6im=2e
42?=& ?N= F&VrKNQm& =N2=1 _N6&1Qm"r&KNQm=2 0=1Qm!r&1T=&6N=T1 I: ?i6Qm DJ_"2?j
Ki2o N2 =N2=2 @_=QLT=&6N=T NF?e .. )q5)8 >WO 1- N1& =N2= FQmKi11TNK"2I JN& ?=2
E=NK_=6&=2 #. %l >T1e lh "irIi1&=KK=2e \N=o=2 ?N= B-6"i11=&Ii2o=2 ?=1 >T1e p
a-6O 1N2? ?"o=o=2 ?N= :iQm_=6&= J"no=T=2?e
7"1 0K=NQm= oNK& 1N22o=J!nO _=22 =N2 @_=QLT=&6N=T ?N= B-6"i11=&Ii2o=2 ?=6
.. )q5)8 >W 2NQm& J=m6 =6rfKK& i2? a-2 ?=6 1&T=r6=N&=2 ^(6$=61Qm"r& "K1 _N6&j
1Qm"r&KNQm=6 0=1Qm!r&1T=&6N=T _=N&=6o=rfm6& _N6?e 7N=1 rfm6& IiJ $"6&N=KK=2 46K(j
1Qm=2 ?=6 F&:=r6=Ni2oe

Q1'a H 5$ >2Je /* 3e >T1e qP E=NK_=N1= F&:=r6=Ni2o



^^3 O]ZP !\! biKN kH%k 1:?74.B+

$P J`K'V>;;> 1'>d>K4];VDX' :V' `9?>K>9 .G'VZ<>V'>9

7=6 0=1=&Io=T=6 1N=m& rf6 B=6JN=&i2o1o=2-11=21Qm"r&=2 i2? ja=6=N2= #. q
>T1e % X6e %HhO K"2?j i2? r-61&_N6&1Qm"r&KNQm= 0=2-11=21Qm"r&=2 i2? B=6=N2=
#. q >T1e % X6e %ph i2? o=J=N22f&INo= FN=?Ki2o1i2&=62=mJ=2 #. q >T1e %
X6e %kh =N2= :=r6=Ni2o a-2 ?=6 ^F&e a-6O 1-K"2o= ?N=1= ^(6$=61Qm"r&=2 4N22"mj
J=2 rf6 T=of21&No&= @_=QL= N2 =N2=J M=_=NK1 ?=rN2N=6&=2 V6-I=2&1"&I =6IN=K=2e
4N22"mJ=2 "i1 2NQm& T=of21&No&=2 E!&NoL=N&=2 K"11=2 ?N= F&36=Nm=N& =2&r"KK=2O
_=22 1N= %H g #X6e %H i2? %ph TI_e qH g #X6e %kh fT=61Qm6=N&=2e :K=NT=2 ?N=
4N22"mJ=2 "i1 2NQm& T=of21&No&=2 E!&NoL=N&=2 i2&=6 ?N=1=2 V6-I=2&1!&I=2O N1&
?N= ^(6$=61Qm"r& JN& ?N=1=2 4N22"mJ=2 1&$rKeO JN& ?=2 fT6No=2 T=of21&No=2 4N2j
2"mJ=2 1&r6=N #$"6&N=KK= F&VrKNQm&he
F&=i=6a=6m"r&=& NJ G"mJ=2 ?=6 $"6&N=KK=2 F&VrKNQm& 1N2? ?N= A0O ?N= ?=J :B ?=6
2NQm& T=of21&No&=2 E!&NoL=N& IiIi-6?2=2 1N2?e 7N=1= A0 1N2? o=Je >T1e q NBJe
>T1e % N2 ?=6 FQmKi11TNK"2I JN& ?=J E=NK_=6& "2Ii1=&I=2 #>i12"mJ=P >T1e phe
.>V;F>VI>K +>ZV99 >V9>K 1'>d>KE>]K>Vd9Z E>V `9?>K>9 9VDX' E>Zb9I'VZ'>9
.G'VZ<>V'>9B 7" ?N= F&:=r6=Ni2o 2i6 o=_!m6& _N6?O _=22 ?N= 4N22"mJ=2 "i1
?=2 2NQm& T=of21&No&=2 E!&NoL=N& %H g TI_e qH g 2NQm& fT=61Qm6=N&=2O =6o=T=2
1NQm r-Ko=2?= Z(oKNQmL=N&=2 rf6 ?=2 &=NK_=N1=2 :=oN22 =N2=6 F&:=r6=Ni2oP
5 A=or"KK -?=6 4N21Qm6!2Li2o ?=6 2NQm& T=of21&No&=2 E!&NoL=N&O
5 =61&J"KNo= 0=_!m6i2o ?=6 F&:=r6=Ni2oO _=22 IioK=NQm 2NQm& T=of21&No&=O

1&=i=61Qm!?KNQm= 4N22"mJ=2 TN1 %H g TI_e qH g a-6KN=o=2e
ZN& ?=J &=NK_=N1=2 :=oN22 ?=6 F&:=r6=Ni2o "iro6i2? a-6o=2"22&=6 DJ1&!2?= N1&
?"1 :BO ?"1 a-2 ?=6 F&:=r6=Ni2o T=&6-rr=2 N1&O N2 =N2=6 FQmKi11TNK"2I o=Je >T1e q
NBJe >T1e % Ii TNK"2IN=6=2 i2? JN& ?=2 E=NK_=6&=2 #>T1e l F"&I %h "2Ii1=&I=2e
:=N >iro"T= ?=1 0=1Qm!r&1T=&6N=T1 m"& . %) >T1e l 4F&0 B-66"2o a-6 . %l #aoKe
>2Je )he
A"6 ?N= ^(6$=61Qm"r& TN1K"2o _=o=2 CT=61Qm6=N&=21 ?=6 %H gj TI_e qH gj06=2j
I= N2 a-KK=J DJr"2o 1&$rKe i2? _N6? ?N= 2NQm& T=of21&No&=O 1&=i=61Qm!?KNQm= E!j
&NoL=N& N2 =N2=J DJr"2o =N2o=1Qm6!2L&O ?"11 ?N= J"no=TKNQm=2 06=2I=2 i2&=6j
1Qm6N&&=2 _=6?=2O m"& 1N= JN& 4N2&6N&& ?=6 mN=6?i6Qm T=_N6L&=2 $"6&N=KK=2 F&VrKNQm&
?=2 42&1&6NQLi2o1o=_N22 NJ G"mJ=2 =N2=6 FQmKi11TNK"2I Ii =6JN&&=K2e
.>V;F>VI>I "K;6IDX>9 >V9>K 1'>d>KE>]K>Vd9Z E>V `9?>K>9 9VDX' E>Zb9I'VZW
'>9 .G'VZ<>V'>9B @i =N2=J $"6&N=KK=2 46K(1Qm=2 ?=6 F&:=r6=Ni2o NFae >T1e q
L-JJ& =1O _=22 ?N= 1&=i=61Qm!?KNQm= E!&NoL=N& =N2 >i1J"n "22NJJ&O ?"1 IiJ
>i11QmKi11 ?=6 F&:=r6=Ni2o rfm6&O "K1- ?N= %H gj TI_e qH gj06=2I= fT=61Qm6=Nj
&=&O -?=6 _=22 NJ G"mJ=2 r-6&_!m6=2?=6 F&:=r6=Ni2o _=N&=6= 2NQm& T=of21&No&=
E!&NoL=N&=2 "iro=2-JJ=2 _=6?=2e
F&=No=6& 1NQm ?N= 1&=i=61Qm!?KNQm= E!&NoL=N& N2 =N2=J DJr"2oO ?"11 ?N= J"no=Tj
KNQm=2 06=2I=2 a-2 %H g TI_e qH g fT=61Qm6N&&=2 _=6?=2O m"& ?N= ^(6$=61Qm"r&
o=Je >T1e q NBJe >T1e k =N2= >2r"2o1TNK"2I "ir ?=2 :=oN22 ?=6 a-KK=2 F&VrKNQm&
"irIi1&=KK=2e 7N= 1&NKK=2 G=1=6a=2 ?=6 A0O ?N= TN1K"2o ?=J 1&r6=N=2 :=6=NQm Iij
Ii-6?2=2 _"6=2O 1N2? N2 ?N=1=6 >2r"2o1TNK"2I o=Je >T1e l JN& ?=2 E=NK_=6&=2
"2Ii1=&I=2e

4N21&_=NK=2 r6=Ne

Q kq

dde >2_=2?i2o1T=N1$N=K= NJ 4N2I=K2=2 >2Je /85// H 5$ Q1'a

/8

//



Q k) 1:?74.B+

aP "K;Gd'>Kd9Z>9 Cd 2EIP -B
#>I>9';VDX> +>'>V;VZd9Z>9 `dY>KX`;E ?>I +>'KV>EI_>KW

:6Z>9I

UP 29F>9?d9ZIE>K>VDX d9? +>?>d'd9Z

>T1e ) T=m"2?=K& #2i6h ?N= 3!KK=O N2 ?=2=2 ?N= >2&=NK= "2 =N2=6 ^"$0=1e "in=6j
m"KT ?=1 :B o=m"K&=2 _=6?=2e 0=m(6=2 >2&=NK= "2 =N2=6 ^"$0=1e IiJ :B =N2=6
^(6$=61Qm"r&O V=61-2=2a=6=N2Noi2o -?=6 B=6J(o=21J"11=O ?N= a-2 ?=6 ^F&e T=j
r6=N& _N6? -?=6 rf6 ?N= ?N= F&VrKNQm& T=oN22&O =6o=T=2 1NQm ?N= G=Qm&1r-Ko=2 "i1
>T1e %5qe 0=_N22= "i1 ?=6 B=6!in=6i2o _=1=2&KNQm=6 :=&=NKNoi2o=2 i2&=6KN=o=2O
"iQm 1-_=N& 1N= NJ VB o=m"K&=2 _=6?=2O o=Je . 8 >T1e % NBJe . %* 4F&0 ?=6 :=j
1&=i=6i2oe >iro"T= ?=1 >T1e ) N1& =1 1NQm=6Ii1&=KK=2O ?"11 ?N= 1&NKK=2 G=1=6a=2 =Nj
2=6 "in=6m"KT ?=1 :B o=m"K&=2=2 _=1=2&KNQm=2 :=&=NKNoi2o N2 3!KK=2 ?=6 F&=i=j
6=2&1&6NQLi2o ?=6 ^F&e i2&=6_-6r=2O N2 3!KK=2 ?=6 F&=i=6a=61&6NQLi2o 1&r6=N "i1
?=J 1&r6=N=2 N2 ?=2 1&$rKe :=6=NQm fT=6rfm6& _=6?=2e F=N& ?=J %e%ekHHk 6NQm&=2
1NQm ?N= G=Qm&1r-Ko=2 ?=1 >T1e ) 2"Qm . 8T >T1e k i2? 1=N& B@ kHHp 2"Qm . 8
>T1e k NBJe >T1e lO 1- ?"11 NJ 46o=T2N1 2i6 q g ?=1 2"Qm ?N=1=J >T1e =6JN&&=Kj
&=2 42&1&6NQLi2o1o=_N221 ?=6 :=1&=i=6i2o i2&=6KN=o=2e d21-r=62 N1& >T1e ) 1=N&j
?=J _=N&o=m=2? T=?=i&i2o1K-1 o=_-6?=2 ##E7ADC-:E N2 #E7ADC-:E'/..DO . %l
G2e q8+ !74<:FDA:E N2 &@;<FC-O . %l G2e 8Hhe
>T1e ) 1=&I& =N2=2 "in=6T=&6N=TKNQm=2 :=6=NQm ?=1 ^F&FiTM=L&1 a-6"i1O _N= =6 T=N
^(6$=61Qm"r&=2 NFae . % >T1e % X6e p i2? q #B=6=N2=O F&Nr&i2o=2h a-6KN=o&e 3f6
^"$0=1e a=62=N2& ?=6 :3, ?N= 4]N1&=2I =N2=1 "in=6T=&6N=TKNQm=2 :=6=NQm1 #1e
:3, ae pe%ke%//) 5 d G qp'/qO :3,4 %8kO %kl+ ae kke%e%//* 5 d G )p'/)O
:F&:Ke dd %//*O qp8h+ >T1e ) L"22 mN=6 "K1- 2NQm& =N21QmK!oNo 1=N2 #!74<:FDA:E N2
&@;<FC-O . %l G2e 8H+ 2:9G N2 $E@:''.?A:E ddde . %l G2e qq+ !:0:E N2 "7DC-
dde . %l G2e *)he

UUP +>I'>d>Kd9Z ?>I ]V<'V_>9 &>KGdY>Kd9ZIZ>FV99I T2EIP - 1`'C 5R

MVDX' Cd: +>'KV>EI_>K:6Z>9 Z>X6K>9?> F>I>9';VDX> 29'>V;> `9 >V9>K Q`W
4V'`;Z>I>;;IDX`]' E>V "9?> ?>K 1'>d>K4];VDX'B XNQm& IiJ :B o=m(6=2?= A0
=N2=6 ^(6$=61Qm"r&O V=61-2=2a=6=N2Noi2o -?=6 B=6J(o=21J"11= i2&=6KN=o=2
o6?1e 2NQm& ?=6 :=1&=i=6i2oe 7"m=6 N1& "iQm =N2= G=o=Ki2o rf6 ?=2 :=oN22 -?=6
?"1 46K(1Qm=2 ?=6 ^F&e "2 1NQm =2&T=m6KNQme 4N2= >i12"mJ= oNK& M=?-Qm o=Je
. %* 4F&0 rf6 _=1=2&KNQm= :=&=NKNoi2o=2 "2 =N2=6 ^"$0=1e 7N= B=6!in=6i2o
a-2 >2&=NK=2 "2 =N2=6 ^"$0=1e o=Je . %* 4F&0 i2&=6KN=o=2 i2&=6 ?=2 ?-6& o=j
2"22&=2 B-6"i11=&Ii2o=2 ?=6 :=1&=i=6i2oe >T1e ) F"&I % 6=o=K& ?N= 1&Ke :=m"2?j
Ki2o _=1=2&KNQm=6 :=&=NKNoi2o=2 T=N 42?= ?=6 F&VrKNQm&O _=22 JN& >i12"mJ= =Nj
2=1 B=6!in=6i2o1&"&T=1&"2?1 ?N= fT6No=2 B-6"i11=&Ii2o=2 ?=1 . %* 4F&0
a-6KN=o=2O "K1- ?"1 i2JN&&=KT"6= -?=6 JN&&=KT"6= ,"K&=2 =N2=6 _=1=2&KNQm=2 :=&=Nj
KNoi2o N22=6m"KT ?=6 K=&I&=2 rf2r b"m6=e
3>DX'I]7;Z>B \N=o=2 ?N= &"&T=1&"2?KNQm=2 B-6"i11=&Ii2o=2 ?=1 >T1e ) F"&I %
a-6O 1N2? ?N= 1&NKK=2 G=1=6a=2 ?=6 _=1=2&KNQm=2 :=&=NKNoi2o Ii a=61&=i=62e 4N2=
B=6!in=6i2o _N6? rN2oN=6&e 41 _N6? i2&=61&=KK&O ?"11 ?N= _=1=2&KNQm= :=&=NKNoi2o
T=N :==2?Noi2o ?=6 F&VrKNQm& IiJ o=J=N2=2 A=6& a=6!in=6& _N6? #>T1e ) F"&I khe
7=6 B=6!in=6i2o1o=_N22 N1& ?=6 :=&6"oO iJ ?=2 ?=6 o=J=N2= A=6& 2"Qm >TIio
?=6 B=6!in=6i2o1L-1&=2 ?N= >^ fT=61&=No&e 7=2LT"6 N1& "iQm =N2 B=6!in=6i2o1j

Q1'a H 5$ >2Je %HH5%H% 0e >T1e )P A=1=2&KNQm= :=&=NKNoi2o=2

%HH

%H%



^^3 O]ZP !\! biKN kH%k 1:?74.B+

a=6Ki1&O ?=6 =2&1&=m&O _=22 ?=6 rNL&Na= B=6!in=6i2o1$6=N1 "ir ?=6 :"1N1 ?=1 o=j
J=N2=2 A=6&1 ?N= >^ 2NQm& =66=NQm&e 4N2 1-KQm=6 B=6!in=6i2o1a=6Ki1& L"22 JN&
"2?=6=2 1&$rKe 4N2Lf2r&=2 "i1o=oKNQm=2 _=6?=2e >ir =N2=2 B=6!in=6i2o1o=_N22
N1& ?N= 36=NT=&6"o16=o=Ki2o ?=1 . %* >T1e l 4F&0 "2_=2?T"6 ##E7ADC-:E N2
#E7ADC-:E'/..DO . %l G2e q/he
2dI9`X:> ]bK Z>:>V99b'CVZ> Q6K4>KIDX`]'>9B 7N=2=2 ?N= >2&=NK= 2"Qm ?=J
42?= ?=6 F&VrKNQm& ?=6 3(6?=6i2o 1&T=of21&No&=6 @_=QL= o=Je . q >T1e % X6e /O
Jf11=2 ?N= 1&NKK=2 G=1=6a=2 o=Je >T1e ) F"&I p 2NQm& "iro=?=QL& _=6?=2O 1-r=62
?N= N2 >T1e p F"&I % o=2"22&=2 B-6"i11=&Ii2o=2 a-6KN=o=2 #1e >2Je %H)he

4N21&_=NK=2 r6=Ne

UUUP +>F>K'd9Z ?>K 29'>V;>B a>:>V9>K #>K' ZV;' `;I &>KGdY>Kd9ZIW
4K>VI T2EIP - 1`'C !R

:=N 46JN&&Ki2o ?=1 rNL&Na=2 B=6!in=6i2o1o=_N221 N1& ?=6 A=6& ?=6 T=&6-rr=2=2
>2&=NK= JN& ?=J o=J=N2=2 A=6& #1e "iQm >2Je %Hkh Iio6i2?= Ii K=o=2e 7=6 o=j
J=N2= A=6& _N6? ?i6Qm ?=2 V6=N1 T=1&NJJ&O ?=6 NJ o=_(m2KNQm=2 0=1Qm!r&1a=6j
L=m6 2"Qm ?=6 :=1Qm"rr=2m=N& ?=1 A0 T=N =N2=6 B=6!in=6i2o Ii =6IN=K=2 _!6=
#aoKe IiJ :=o6Nrr . ) >2Je %pl)he 7=6 o=J=N2= A=6& _N6? "iQm ?"22 "2o=1=&I&O
_=22 =6 2N=?6No=6 "K1 ?N= >^ N1&e ,N=6?i6Qm _N6? rf6 2NQm& NJ :B o=m"K&=2= >2j
&=NK= NFae . %* 4F&0 ?N= :=1&=i=6i2o ?=6 1&NKK=2 G=1=6a=2 a-6 4N2&6N&& N2 ?N=
F&36=Nm=N& =66=NQm&e

U&P 29'>V;IE>F>K'd9Z E>V "V9'KV'' V9 ?V> 1'>d>K4];VDX' T2EIP -
1`'C $R

MVDX' Cd: +>'KV>EI_>K:6Z>9 Z>X6K>9?> F>I>9';VDX> 29'>V;> `9 >V9>K Q`W
4V'`;Z>I>;;IDX`]' E>V +>ZV99 ?>K 1'>d>K4];VDX'B >T1e ) F"&I l m"& ?N= oK=NQm=2
&"&T=1&"2?KNQm=2 B-6"i11=&Ii2o _N= >T1e ) F"&I %O T=&6Nrr& M=?-Qm 2NQm& ?=2 3"KK
?=1 42?=1 ?=6 F&VrKNQm&O 1-2?=62 ?=1 :=oN221 ?=6 F&VrKNQm&e FN=m= ?"m=6
>2Je %H% i2? Ii6 36"o= ?=1 :=oN221 ?=6 F&VrKNQm& >2Je kke
3>DX'I]7;Z>B X"Qm >T1e ) F"&I l oNK& NJ 3"KK ?=1 :=oN221 ?=6 F&VrKNQm& ?=6 o=j
J=N2= A=6& ?=6 >2&=NK= "K1 >^ ?=6 >2&=NK=e AN6? =N2= TN1K"2o a-2 ?=6 F&VrKNQm&
T=r6=N&= ^(6$=61Qm"r&O V=61-2=2a=6=N2Noi2o -?=6 B=6J(o=21J"11= 1&$rKeO _=6j
?=2 ?N= _!m6=2? ?=6 @=N& ?=6 F&36=Nm=N& =2&1&"2?=2=2 1&NKK=2 G=1=6a=2 =2?ofK&No
?i6Qm ?N= 3NL&N-2 =N2=1 >21Qm"rri2o1a-6o"2o1 r6=No=1&=KK&e ,N=6T=N oNK& ?=6 o=j
J=N2= A=6& ?=6 >2&=NK= "K1 >^e 7N= >^ 1N2? "iQm ?"22 JN& ?=J o=J=N2=2 A=6&
"2Ii1=&I=2O _=22 ?N=1=6 i2&=6 ?=2 &"&1!QmKNQm=2 >^ ?=6 :=&=NKNoi2o KN=o&e 41 N1&
"K1- N2 ^"ir Ii 2=mJ=2O ?"11 1NQm =N2 1$!&=6=1 B=6!in=6i2o1=6o=T2N1 =6m(m&e
7N= JN& ?=J o=J=N2=2 A=6&=2 rNL&Na N2 >21"&I o=T6"Qm&=2 >^ 1N2? o=Je . %*
>T1e k 4F&0 ?=J B=6!in=6i2o1$6=N1 o=o=2fT=6Ii1&=KK=2e 42&1$6=Qm=2? ?=6 G=j
o=Ki2o N2 >T1e k oNK& ?N=1 M=?-Qm 2i6 rf6 ?=2 3"KKO ?"11 ?N= >2&=NK= a-6 ?=J 4N2j
&6N&& ?=6 F&VrKNQm& "2o=1Qm"rr& _-6?=2 1N2?e 7=6 o=J=N2= A=6& N1& 2NQm& 2i6 "2Iij
1=&I=2O _=22 ?N= ^(6$=61Qm"r& ?N= >2&=NK= _!m6=2? ?=6 @=N& Nm6=6 F&:=r6=Ni2o
=6_-6T=2 m"&O 1-2?=62 "iQmO _=22 ?N=1 T=6=N&1 a-6m=6 Ii =N2=J @=N&$i2L& o=j
1Qm=m=2 N1&O N2 ?=J 1N= 1&$rKe _"6e dJ K=&I&=6=2 3"KK N1& ?=6 >21"&I JN& ?=J o=J=Nj
2=2 A=6& o=6=Qm&r=6&No&O _=NK JN& ?=J :=oN22 ?=6 F&36=Nm=N& T=6=N&1 =N2= :=1&=i=j
6i2o ?=1 A=6&Ii_"Qm1=1 2"Qm ?=2 F!&I=2 % i2? k =6r-Ko& N1&e

4N21&_=NK=2 r6=Ne

Q k*

ddde :=_=6&i2o ?=6 >2&=NK= #F"&I kh >2Je %H%5%Hq H 5$ Q1'a

%Hk

%Hl

%Hp

%Hq



Q k8 1:?74.B+

&P +>I79?>KX>V'>9 E>V E>I'V::'>9 Z>:>V99b'CVZ>9 Q6K4>KIDX`]W
'>9 V1?P H \ 2EIP 5 MKP 8 T2EIP - 1`'C [R

>T1e ) F"&I p =6LK!6& ?N= F!&I= % i2? k 2NQm& rf6 "2_=2?T"6 T=N ^(6$=61Qm"r&=2O
V=61-2=2a=6=N2Noi2o=2 i2? B=6J(o=21J"11=2O ?=6=2 F&:=r6=Ni2o "ir . q
>T1e % X6e / T=6im& i2? ?N= N2 :=Iio "ir Nm6= @_=QL= ?N= B-6"i11=&Ii2o=2 ?=1
>T1e p =6rfKK=2e 7N= G=o=Ki2o N1& a=6oK=NQmT"6 JN& . ) >F&0e FN= a=6mN2?=6& ?N=
:=1&=i=6i2o ?=6 1&NKK=2 G=1=6a=2O _=22 ?N= >2&=NK= Lf2r&No ?=6 3(6?=6i2o 1&T=j
of21&No&=6 @_=QL= ?N=2=2O iJ ?=2 @_=QL ?=6 F&:=r6=Ni2o ?=1 >T1e p 2NQm& Ii
T==N2&6!Qm&No=2e

Q1'a H 5$ >2Je %H) 0e >T1e )P A=1=2&KNQm= :=&=NKNoi2o=2

%H)


